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Choose the correct statements regarding the National Anthem

I. Was written by Rabindranath Tagore in Bengali

II. Anthem is sung for a duration of 52 seconds.

a. lis true b. II alone is true c. Both Tand II are true
d. None of the above e. Answer not known

Bl S I a1 OFHTLTHmLW FAWTRT FnBmISHeneT Hewil N

[. aumsCwmfuied FaibdImETH STaITe 6TRSILLL S

II. um_Ou@Gw GpIL 52 allemmgser

a. I af b. II o G silwmerg Cc. ®yeni(hB aflwimetena
d. gsafevmen e. alewL OxMwaletenso

National pledge was written by whom and in which language

a. Pingali Venkayya, Andhrapradesh - Telugu
b. Sarojini Naidu - Hindi

c. Pydimarri Venkata Subbarao - Telugu
d. Potti Sriramulu - Telugu

e. Answer not known
Cxpdlw o mHoms wngmed, 6bhd GLomHuled s1pSILILL S
a. Unisel Oeumenswim, SibHIITCassd - aHImG

b. #@medel BIWG - b
c. Ugomfl GeumisL  &LLTyT6l - OHmIE
d. Qumiy wfyrape - QHVIBIG

e. alewL G flwailsenso

The First ever National Flag flown after independence is stored in

a. Chennai fort museum b. Delhi Museum ¢. Sarnath museum
d. Kolkata Museum e. Answer not known

GHHATD QUBBLIET gBpULLL (WHeo Bxdlw Gamg 6mig UTSHISTSSUILGHBSHI?

a. Qoaiemer Gam el SympEIGT fAusd b, 196060 SmHBIGTL SuisLD

C. BT SIHEISTL S d. Be0aHHT SIHBIST AwsID

e. alemL G flwailsenso

Match the following with correct option.

National symbol Date of Adoption
A. National Anthem 1.2012

B. Emblem 2. 22 March 1957
C. Lactobacillus 3.26 January 1950
D. Calendar 4. 24 January 1950
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A B C D

a 1 2 4 3

b 4 3 2 1

c 1 2 3 4

d 4 3 1 2

e. Answer not known

OUIT(hSSI%H:

Bzl leireorid OImISHMNHSIULL FHeld

A. Bxdw SHIb 1. 2012

B. dlerenid 2. 22 ontg 1957

C. eorsBLTBLH0606r0 3. 26 ggareurl, 1950

D. priam g 4. 24 seweufl 1950
A B C D

a 1 2 4 3

b. 4 3 2 1

C. 1 2 3 4

d. 4 3 1 2

e. alewL Oz flwealsvenso

Consider the statements and choose the correct option.

L. B.N. Rao was appointed as advisor to the constituent assembly.

I1. 64 lakhs was spent to frame constitution.

III.  Constitution making was done within a period of 2 years, 11 months and 18 days.

IV.  Original constitution are preserved in Helium cases, kept in the library of Parliament
of India.

V. Original constitution had 395 articles in 22 parts and 8 schedules.

a. I only b. 1, II and III only c.land IT only

d. All the above e. Answer not known

SHOBTHHBULLL afleufmisefled 2 amenWTar HHeU0HMmeN HewiLSbdHl GBI ayLb.

L. B.N. gmell gL e SiGeonganme BuwsbaLILL (BeTenTiT.

IL. SIFFwied BTRILIFFLLID 2 (HouTdd 64 VL gD GFeveuTeang)

I1I. SFwed MiTtemF FULID o (houtdhd 61BSHHIH CBTeRILSTOD 2 euBHLD 11 wrHbL 17
BIT6IT

IV. epeolIiyg  (odfwed SewwlyF FULD) aedlud  Ouliguied  meushdl,  BILTEHLOGIH
BTVSHH0 LITHISTHSLILBSBSI.
V. epeoll LIg&Hufled odlwed Pifemiwsd FlLsaHled 395 Ufley 22 uGHdeT 8 I L 6uenewidbein

Bmbser.
a.l w’ @ b. I, II wpmd I o Gid c. I wmppid I o Hid
d. swerbaip i e. alewL Gafuwealsvemnsv

What are the conditions to form a political party.
a. Register with Election Commission of India.

b. Must have atleast 100 members.

c. should have a party constitution

d. All the above

e. Answer not known
R SFwed sl Hdw o (HeuTdd, BhHdHd Ceuswigul SULTWIDTET alFH ST WTeneu?

a. @hFHw CxTmped SpmemiwsHHe0 uFHey Gauiw GCeuemrBLD
b. ombs Ul gd 100 2 prilamssT Smbs GouamiHd
C. aLFdE FULALMISNT QHbs GCouewi(BLd

d. smasaibp BxHmel

e. alenL Oz flwalsvenso
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10.

11.

Term of Legislative council and minimum age requirement is

a. 5 years and 25 years b. 6 years and 30 years c. 5 years and 30 years
d. 6 year and 35 year e. Answer not known

FLLLOSBSHSeT 2 BIilenT LHalbeTeod BBID UG GUFLDL| 6T6Ten?

a. 5 oBmIb 25 syewi(HEel b. 6 wmmib 30 eyewIHHe6 Cc. 5 wmmid 30 syewIBH6NT

d. 6 oBpid 35 wiGHeT €. el Gafuiaisvemsv

Qualification of a high court Judge should be

1. Must be a citizen of India

2. Must have 10 years experience as head of the Judicial office in the territory of India.

3. Must have 10 years experience as advocate in one or more High Court.

4. An eminent Jurist in the opinion of President

a.1and 4 only b. 2 and 4 only c.1,2and 3 only

d. All the above e. Answer not known

o WIHAHB BHHUSUNGT HSHHWTS slened SHFLILIBE 6360 ?

. @hadwusd GYLIaTs BHbe CeuemihLD

2. @hHu BIHHBHMB DiIUVBSHHD 10 SLHIBH6T HMevmL LIGal udHlHHl(hbs Ceuemi(BLd.

3. QeIml SV RIBISG GBuUlL 2 wWiIphd  AIBEIGeTN LSHSHIHLEIGSNT  6UDHHM EhITH
ueniyfibs Siemiueud Geuewmi(BLd

4. GQWISGSH SHmevaTTed WISF FBhHd BHHHMB HLewIT el Freim OuBheHs Gouewmi(BLD.

a.1&4 w' @Gw b.2 & 4 i Bw c.1,2 &3 w @Gw

d. @mer SimaTHHID e. alewL Oxfwaleenso

The Members of the State Legislative Assembly Participates in the election of

i. President ii. Vice President

iii. Rajyasabha member  iv. Members of state legislative council

a. i, ii and iii are correct b.1iand iii are correct c. 1, iii and iv are correct
d. all the above are correct e. Answer not known

oMBlev FLLFMU 2 pIIeNTHeT 6bhdHdh CHTHeled LMIEG eudSlUTTaHei?

1L GRWIGHH HEMEVEUT ii. FWewid GQUITHSH HEN6VGUT

iii. BILTEDHLOEB o min et iv. wmplev FUL e Goevensu o mii et

a.i, il wmpud iii gf b. i wBmip iii & C.1,1ii Bmb iv &
d. GuBsei. oiemenndaHibd e. alewL Gxfuwealsvenso

Choose the correct statement

1. Indian council act 1892 introduced the concept of indirect election for the first time.

2. Direct election was held for the first time in 1920 under British India as per the
Montague Chelmsford Reforms Act.

a. One only b. two only c. Both one and two

d. None of the above e. Answer not known

gllwnen snppileneis; Coite

1. Wpaar WPpHelsd LoBLPESH BHTHe0 (enpwimerdl 1892 @bHul Heyaidle0ssl FLULID  eLP6VLD
SIBPSLILGSHSLILL LS.

2. Ufllgey @bHwnelsd wTawCLE CFbedCUTTH FTHHBHESMIB6T FLULID cpeod 1920-60 (LpGHest
WHeord GBIy BHiTeHe0H6T HewL GILIBMeT.

a.1 wl @B b.2 o’ (b c.1 wppid 2

d. gsiafevemen e. alewL GaMuwealsdemev

Consider the following

Assertion (A): India has indirect democracy.

Reasoning (R): People exercise decision making power indirectly through elected
representatives.
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12.

13.

14.

15.

a. (A) alone is correct (R) is incorrect.

b. (A) and (R) are correct and (R) is correct explanation of (A)

c. (A) and (R) are incorrect

d. (A) and (R) are correct and (R) is not correct explanation of (A)
e. Answer not known

L&STeu(BLD SnBBISemend &(HHISb.

aBm (A): SbdHwrealsd WeBS oSBT HleveySmal

amenid (R): wésel FHhsen DHEMHMS WOBULSTS BHIHOHBHSIUL L LIFHHdsen cpeold
CFwWeLLIB HHIF GTB6IIT.

a. (A) w ew &f, (R) seaum

b. (A) wppw R) &M, (R) eemg (At sflwumer alendbsomEid

c. (A) wppw (R) seum

d. (A) wBpw (R) sf wipw (R) eemwg (At sflwmer alsndasosiseo
e. alemL Oz flwailsoemnso

The parliament house in India was designed by
a. Le Corbusier and Albert Mayer

b. Edwin Lutyens and Herbert Baker

c. Matthew Nowicki and Thomas Munro

d. Ludwig Mies and Frank Wright.

e. Answer not known

@OhHU LTITEHLONID DIeNEUWITETH WTFTED UIQeUDLOSSLILIL L .
60 SMTUaIWIT WBmID SLeouiT GLowliT

el allel gV lguleiTerd LOBMID GamiTui. Guabasit
rsupel Cohralds B@ID ST LoaTEBT
05095 LD LOBM@ILD LIgTeds emL

alenL  OFfluiaisoenev

P an o

Kudavolai system was followed by

a.Cheras  b.Cholas  c. Pandyas d. Pallavas e. Answer not known
&L Goumemev  (LPeNBUITEIS S60 LestuBmriul L gl
a. Gayimer b, GampiTsmer C. LITGRNQUITESGIT d. ueveveuTamen e. alewL GaMuiealsdemsv

Choose the correct statements regarding the Election Commission

I. Independent Body II. Permanent Body

I1I. Statutory Body IV. Constitutional Body

a. All of these b. I and II only c. I, Tand III only

d. L, I and IV only e. Answer not known

CxiTHe0 Syememiwid GHTLTUTET FilwTer SnBmiBemen CxiTe

[ s5HaT Slemwli II. Pleweowimenr SiemLoliL]

III. slLyTen Senioliy IV. oipdlweventorifes LIQuITeT SienLDLIL

a. BupampPw oemersad b1 wBpd 1T - @Go c. I, IT wpmd III ' @G

d.LII opgid IV oG e el Gafuaisvenso

Match the following and choose the correct one

A. Social 1. Rights exercised information and administration of government.
B. Economic 2. Basic right offered by law to everyone

C. Cultural 3. Rights that assure enjoyment of culture and its components

D. Political 4. conditions to meet basic need is ensured.

E. Civil 5. guarantees equal treatment and Participation of all citizens.

F. Human Rights 6. Inalienable and inherent rights to all humans
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16.

17.

18.

A B C D E F
a. 1 2 3 4 5 6
b. 5 4 3 1 6 2
C. 5 4 3 1 2 6
d. 5 6 3 2 1 4
e. Answer not known
QUTHHSHIH:
A. Feps 1. QIFTRISSHIST LHTET HFH6U6L LOBBID HiTeuTd 2 Menodamend SHHBBSI.
B. Qummenmsmy 2. SIMAUMHBGD FLULSHHTEL 6UPHIGSLILL[H6Tem Diglitienl. 2 flenlodei
C. seungany 3. SHGUTEFSFMID WBBILD DIHET FmBIHENeNT SiEILaTSHGHD 2 fenosei
D. apdlwed 4. oliumL Bxhameusemer BedBGaBBID @LD60H6IT
E. @uuiwe 5. SIMNHH GHQYLLESEHSHGD FIO DHHVSH LBWILD F10 LKIEGESBLIenT
2 Mg GFuigHeo
F. vailg o Menoser 6. SlenandHdl WalSHTHEhoHSTRN LIBHESHT QUI0TS LOBBILD 2 6TenTihs
o feninsel
A B C D E F
a. 1 2 3 4 5 6
b. 5 4 3 1 6 2
C. 5 4 3 1 2 6
d. 5 6 3 2 1 4
e. alewL Gz flwealsbenso

Choose the correct statements regarding Fundamental Duties.

1. They were incorporated under 44th constitutional Amendment Act.

2. They were based on provisions of Verma Committee recommendation.

3. Original constitution had 10 Fundamental Duties.

4. Latest duty to provide opportunity for education to child was added by 86t
constitutional Amendment 2002.

a.1and 2 only b.1, 2 and 3 only c. 3 and 4 only

d. 4 only e. Answer not known

SIQULML & HLMH6T QHTLTUTET FTAWITERT FnBBISMET HT6EwISH

1. @6 44euzk SFFWeVemlILS H(HHHF FLLID cpeld EenentBLILIL L 6.

2. eufom @Gpalledt LIMBSHIEHTLILIQUITET FnBIHen6Nd OlBTeRIL nel

3. epev SFweoemolimedl 10 SIQlienL & HLDEHMm6Nd BTN (HbHHI!.

4. 86 ougml SpFwevemolish  HHSHD  2002-01 LY  GWHMBBEHEHEG — Hevalwlemd@Lb
SLMWTRIH LHSHTE SenewiddLILIL L SHTEGHLD

a.1l wBmib 2 w B b.1,2 wppid 3 wl G c.3 wBEpIb 4 W B

d.4 @G e. alewL Gafuwealsvemnsv

Under RTI Act, information must be provided within.

a. 60 days b. 90 days c. 30 days
d. 15 days e. Answer not known

RTI sl gdHer S HG6NT HBHaUL UPHIGLILIL  Gauewt(HLd?

a. 60 B selt b. 90 p_seir c. 30 B _sei
d. 15 prsei e. alenL Oafweaisoensv

Child line is India’s first 24 hours free emergency Phone service for children in
need of assistance
a. 181 b. 1098 c. 1950 d. 121 e. Answer not known
2 gal CapmeaulIuBLD GWhHmSHHEhdHITHr AbHwTaler (WHeo 24 el Gy SL L ewIbleoeoT Sieus]
Carener GHTLTY Cgemeu 2 Hal ewiowl 6T6wT SLGLD.
a. 181 b. 1098 c. 1950 d. 121 e. alowL GaMuwelsdemev
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19.

20.

21.

6 | Page

Only local government that can levy taxe under 3 tier panchayat

a. village panchayat b. zila parishad c. panchayat samiti

d. Anchal samiti e. Answer not known

waBheHESG UehaFTwhHsl  (pewpulest S LG  eaufl @lHBGD DIHBTTHMBL
QuBEIeTENG).

a. Fmp  UEhFTWSHS b. 29eveur Lflags C. UEhsTwdHg )

d. sehger F108) e. alowL GaMuwealsvemev

Match the following with correct options.

A. Provincial autonomy 1.1919
B. TN Local Government Act 2.1935
C. 73rd and 74t» Amendment 3.1992
D. Piped water supply for the first time 4.199%4

A B C D

a. 1 3 2 4
b. 2 4 3 1
C. 3 1 4 2
d 4 2 1 3
e. Answer not known
QUT(HSHHIB:

A. onsment awim 1.1919

B. s1010p16 o _6ienml &6 FLUL LD 2.1935

C. 736ugl () 74ougl H(HSILD 3.1992

D. waer waelsd @GWwiul epsold GbT alBGuwITsLD 4.199%4
A B C D

a 1 3 2 4
b. 2 4 3 1
C. 3 1 4 2
d 4 2 1 3
e. alewL Ggflwalsenso

Consider the following statement and choose correct option.

Assertion (A) : India has a rigid constitution

Reasoning (R) : Article 368 provides for amendment by special majority and some
provision can be amended by simple majority

a. Both A and R are true and R is correct explanation.

b. Both A and R are true and R is not explanation.

c. Ais true R is false

d. A is false R is true

e. Answer not known

elteupld gnpmiseiiev Fflwmearensdd CaibosMm:

aBm (A): @bFHwn Opaslpr SFduevenolientids CaTewIBeTens

smgenitd  (R):  grsha 368 iz HhoHImsehssrar  Fpiy  QuBbUTEen  wBpid v
AUMBHMENSH H(HSHSHID FTHTI6wT CLHLOLITETENLD HEDL (LPenBHm6Nd GNMILILNBSBSI.

a. (A) vppib (R) sM Gwed (R) eteiiugy gflwmen aflendasiongLd

b. (A) wppiw (R) sM Gwaid (R) ereiug aflwmer aflsndasiosvsn

c. (A) afl (R) seuprerg

d. (A) saum, (R) sflwreng

e. alenL Oz flwalsvenso
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22.  Which of the following is not a fundamental duty?
a. Promote harmony and spirit of common brotherhood
b. To strive towards excellence in all spheres of individual and collective activity.
c. Full and willing contribution to promotion of world peace and welfare of mankind
d. Protect and improve natural environment

e. Answer not known
LeiTau(heuaTeuBmie 61g% Slglilienl. 2 _Mend HI6L6V?

a. HeLeVlewIdbsD WBBID FEHTHISHIMUSHMS LJeUF QFUIHeL
b. salwals 9E0eH gl G WUBAWLTD DDaIHHIH SHMBUIID BB HTEnIHE
C. 2 605 SMLHHGD Slevevd Wealld Gev CubUT GEGL (W warSCasTH WwwBd GauigHeo
d. sBmF GHped GLUTH SIEV6VHI LTSHIBTLIL
e. alowL Gafweiledenso
23.  Consider the following statements:
L. Tamilnadu Government in 1969 appointed the committee under PV Rajamannar to
examine centre state relations.
II. Tamil Nadu government in 1983 appointed Sarkaria commission to enquire centre

state relation.
Correct statement is /are

a. I only b. I only c. Both I'and II

d. None of the above e. Answer not known

Weteumeustteupmlen Fflwmenengd CaboaBSHaH GBIUIL6yb

L. sWps &, P.V. gregweient smevemoulsd @b G SimbdHHl, 196960 HHul  ompHlev

SIFHEHEG BenLuleoren o me| uBpsl uflFevemner CFUISHS

II. SIS SIF&, 198360, WHHW WIHL P& SenLulevme 2 me| UBHB  elFTyemenobsTs,
ghsamiwur slagmer Bpieluigi.

a.l o' @ b. I wl @G c.I wpmw 1T

d. @meu gsIdevemev e. alowL Gafwealedemev

24.  Match following with correct options.

A. M.N. Venkatechaliah Commission 1.1983

B. M.M. Punchi Commission 2.1955

C. Official language committee 3.2000

D. Sarkaria Commission 4. 2007
A B C D

a. 3 4 2 1

b. 4 1 3 2

C. 1 2 4 3

d 2 3 1 4

e. Answer not known

QUT(HSHHIS:

A. M.N. QousisL_tFeoulwm  HL0a1g68 1. 1983

B. M.M. yeitdl s1hegeit 2. 1955

C. siu6u60 Gomfles @GP 3. 2000

D. sfgasriwm  sblages 4. 2007
A B C D

a 3 4 2 1

b. 4 1 3 2

C. 1 2 4 3

d 2 3 1 4

e. alemL Oxflwailsvenso
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25.

26.

27.

28.

29.

30.

8 | Page

How can fundamental rights be suspended?

a. If supreme court desires

b. If prime minister orders to this effect

c. If president orders during National Emergency

d. All of the above

e. Answer not known

SlpliuenL. o _fenwenul JTohaH OFUIW WThHEG DHSTID 2 6wi{h?
a. 2 &5 bHFHIDSIBLD

b. yswiT SyemewuiLeomd

C. Bxpdlw, SUFTFFIL HTLHHE0 GHQUTEHHHMEVT SLenertuilL 60mD
d. gmasaind silwrarenel

e. alenL Oz flwalsoemnso

The length of a rectangular field exceeds its breadth by 9 metres. If the perimeter of the
tield is 154m, find the length of the field.

a. 23m b.34m c.43m d.52m e. Answer not known

QM OFeleus augel HEVSHET HETOTEIH DHHSHE DIHVHMS @l IS SiFHsb. HFCFIS
algel BlevdHdHlen FBmene] 15415 eedlled SIHBEVSHBHEN HED HTewIsH.

a.23 18 b.34 8 c.43 1§ d.52 8 e. alewL  OgMwaisbenso

A man has to build a rhombus shaped swimming pool. One of the diagonals is 13 m and
the other is twice the first one. Then find the area of the swimming pool.
a. 100 m? b. 121 m? c. 144 m?

d.169 m2 e. Answer not known

QUHeNT  FTWIFHT eugellevTel BHEFD (GHOND QENMB  DWWLEHS  al(HLUSBIT. DS QH
cpemevall L Sleeutendl 13 5. oBeBmm  cpemevall L Sjene] el Gumev  @gewi(h  LOLMIE
G160, [HFF6L GH6ENHHGI LFLILIGTN6US BHT6wISH.

a. 100182 b. 121 152 c. 144152

d.169 152 e. alewL  OgMwalsdensv

The hypotenuse of a right angled triangle is 25 cm and its perimeter 56 cm. Find the length
of the smallest side.
a.5cm b.7 cm c.24 cm

d.31 cm e. Answer not known

m OCamBasren (WHCaremidhdler Sjewid 25 GF.5 LB@ID ST S&Bpene] 56 6F.15 eefle,
(W&CamamiddHer FP LUSBHH DleeneUd HT6wIH.

a. 5 Gg. b. 7 QF.16 c. 24 Gg.16

d.31 Gg.6 e. alenL  Gxfuweailevensy

If area of a quadrilateral having one diagonal 7 cm is 63 cm? and if length of perpendiculars
drawn from the opposite vertices to that diagonals are 5 cm and x cm then value of x is
a.9cm b. 23 cm c.35cm

d.13 cm e. Answer not known

63 Q&5 ugliueneeTen @ BIBHISHST @b cpemevall b 7 QF.uS.  Gueud  eri
o Fdlapelledmba Sibepemevall LHHBEG eumdIWLILGL GHHHCHTHHele HonmiseT 5 .15
BEBID X 0.5 eeied X-e1 LI

a.9 Qg.6 b. 23 Gg.8 c. 35 Q.5

d. 13 Q.8 e. alenL  Gafweaisvensv

The radius of a circular cricket ground is 76 m. A drainage 2 m wide has to be constructed
around the cricket ground for the purpose of draining the rain water. Find the cost of
constructing the drainage at the rate of X180/- per sq.m.
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31.

32.

a.31,74,240 b.%1,74,024 c.%1,72,440

d. %1,74,420 e. Answer not known

oL eugen wlentll ubgdh (Cricket) Hiedeir sygb 7618 Sibssd Hremevs ampd 2 1S
SIBVSHH T DPBT  GugeuSBETE  6ugsTe0 (drainage) oiwwss GeuewnoulBbsH. @B FHIT
BLLBSE b 180 aisb OFevauTelmed, SbHFH QST DMLESSH CHameuwmar CLOTHHS
CFHTMHEMUIS SHT60TH.

a.em. 1,74,240 b. em. 1,74,024 c.ep. 1,72,440

d. . 1,74,420 e. alenL  GaMuwalevemnev

Match the following with correct options.

Right Article
A. Rights To equality 1.19 to 22
B. Rights against exploitation 2.14to 18
C. Right to Freedom 3.23 and 24
D. Right to freedom of Religion 4.29,30
E. Right to Culture & education 5.25to0 28
F. Rights to Constitutional remedies 6.32

A B C D E F
a. 2 3 1 5 4 6
b. 3 4 2 6 5 1
C. 4 5 3 1 6 2
d. 5 6 4 2 1 3
e. Answer not known
QUTHSHHIB
o _fenip FLL bgnpl
A. swdHzien o fenio 1.19-22
B. apemi_ends@ eargymen o fenio 2.14 -18
C. sgpdy o Mo 3.23-24
D. wasaspdy o few 4.29,30
E. seungamyb, seval 2 _Menio 5.25-28
F. oppdwsvemliys@lul L Siresensstear o feno 6. 32

A B C D E F
a. 2 3 1 5 4 6
b. 3 4 2 6 5 1
C. 4 5 3 1 6 2
d. 5 6 4 2 1 3
e. alewL G flwailsenso

Commonwealth citizenship provided by citizenship Act (1955) was repealed by
a. Citizenship (amendment) Act 2005

b. Citizenship (Amendment) Act 2003

c. Citizenship (Amendment) Act 2013

d. citizenship (Amendment) Act 2015

e. Answer not known

&Moo — Guyfleno 1955 ouewi  Gufleows  FlLSHer S  OBTHSSLILULL .
SPHOBTHHSI6TEN 61hFH FLLGH HHIHSHHT LIy DiFH HHSLILLLGI?

a. guuflewws gL Hmss wWEFTEHT 2005

b. guufews FLH Hmdbs wWEFTHT 2003

c. Guuflewws gL s FmsHs wWEsTHT 2013

d. eyufemws FiLs Hmshd wWesTEHT 2015

e. alenL Oz flwalsvenso
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33.

34.

35.

Match the following with correct options.

Article provision

A.77 1. Grant pardon, reprieve, respite

B. 53(2) 2. Privileges of the president

C.72 3. All executive action of union taken in the name of the

president

D. 361(1) 4. Supreme commander of the defence force of the union
A B C D

a 2 3 4 1

b 3 4 1 2

C 4 1 2 3

d 1 2 3 4

e. Answer not known

OUIT(hSSIH:

FLLanml Qum(menL&aLd

A.77 1. Qurgl waEliY, HEBI_MBTHGMDBIL] / B

B. 53(2) 2. Gursdh Hmevalfler ML FelenHHeN

C. 72 3. ®wrsHsdh HmevauT GQuUWIfled TBSSLILGL CEFuiedUTHS6IT

D. 361(1) 4. pluenLd Hemeveui
A B C D

a 2 3 4 1

b. 3 4 1 2

C. 4 1 2 3

d. 1 2 3 4

e. alewL Oz flwealsbenso

Choose the correct statements regarding removal of the vice president.

L. only Rajyasabha can initiate removal of the vice-president passed by effective
majority (majority of all the members of council) and accepted by Loksabha.

II. The resolution can be moved only after a notice of 14 days.

a.lonly b. Both I and II c. Il only

d. None of these  e. Answer not known
GLWISS Hlmeandh Hmevaued] LSl HHsD QFud Gurg GCumosmeien Geuswigul eufl(pens
G&BHs Filwmer gmppisenen Cxie) OQFUIs

I OMBlevmIEeT  Slemauulled SIBIFL  QuUEpbUTETmWS  Gupeuted  Fumfla  GQeuwiiul @,
LDEBENTME DRISSTID CUBB el GRWIsd SHewewd HMevaT LS BHHWD OFUILIEOTLD.

II. giwonend BHeopGaumpliLGausBE@ (el 14 BTeT &Tev DeusTFD CEThHE CouamtiBLD.

a. [ @ b. 1 wspwn 11 c. IT o (d

d. gsafevemen e. alewL O MNuwaleenew

Choose the correct statements regarding the power of Rajya sabha.

L. All Bills including money bill needs to be approved by Rajya Sabha.

II. Same power as Loksabha while passing constitutional Amendment Bills.
III. ~ Impeachment of the president, Judge of supreme court & high court

IV. Power to authorise, creation or abolition of All India services

V. Can authorise Loksabha (Parliament) to make a law on subject enumerated in state
list.

a.Iand II only b.1I, III, IVand V c. [ ITand V

d. All the above e. Answer not known
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36.

37.

38.

BTLTEHLONBSHHST  HSMD GPHS,  SSHeETHHSUILL (6T  HHeUeLH6Me0  FhTeTend

CaTHOHBHSI 61RSHMLD.

L. B&H FOUBSIULL OBDBID DieardHdl WCFTHTHHEHLD BTLTEHOENS 6LILHe0 GILBGeaeasIHLD.

II. oFwed ewwly FLL  HopSsuser uBBlw  wEsTHTEDeM HIMENEEG EHLILS
Gumed F10 HFHHMID o 6wI{H.

I eywurs smevall, o FFHAWGB WLHBEBID 2 WIHHSB BHUSHHMmET HHGD DIHSTILD

IV. oo @hFuliLeni o haurds Hhd DHETID o emih

V. ormHlev UL Iguwedled o 6item GQUT(HL&6Mled FULID BUWIBM LHEHMMaIDHESG DHSTID Dol He0

a. I wmpd II G b. II, IIL, IV wmmid V c. I wmpd IV

d. gmasaid slunaeme e. el Gsfuiaisdemed

Which of the following article is related with Attorney General?

a. Article 73 b. Article 74 c. Article 75
d. Article 76 e. Answer not known

LeTau(heussTeuBmieT SILLMTell Gegenyed OFHTLTUTET FLU L SHImmI 61517

a. glLamm 73 b. slLemm 74 C. glLgm 75
d. #liLam 76 e. alewL OxMwaletenso

Choose the correct statement

L. Chief Justice of India and other Judges of the Supreme court hold office upto the age
of 62 years.

II. Judiciary is the third organ of the government

IlI.  Cases involving fundamental rights comes under the Appellate jurisdiction of the

supreme court
IV.  Law declared by the supreme court is binding on all courts within the territory of

India

a. I and IV are Correct b. Ill and IV are correct c.Iand IV are Correct

d. All of these e. Answer not known

gilwmen HHeuemevsd BHiTH0SH[H&HBMLD:

L. BpHudh Hmevemo BAHUS  LBBID o FFpHwes BHuBHulET USSHTED 62 UG
QU]

II. SITFTRIBSHHE CLHGIBTOUSH DIRIBLD [HHHBHIENB

. swluemL o MeiwseTr FDUBSILULLDeuSeT o FFhHwamsdear Gwed (pedpuil Lifealer
S QIBEBS!

IV. o FspdloaissHsmed Osmemih eupliul L FULRBIS6, @bl 6Te0eeudH@GeT @)L bOLBBIeTeT
SIS HHLOBBRISMTEID LNGLBBLILIL. Gouewngul eeTmmELD

a. Il wppiw IV sflwnerene b. Il & IV gflwrerene c. [ &IV sflwnerenel

d. simersaid Fflwimeiene e. alomL Ggflualsvenso

Match following with correct options.

Position Minimum age

A. President 1. 30 Years

B. Vice president 2. 25 years

C. Members of Lok Sabha 3. 35 years

D. Members of Rajya sabha 4.35 years
A B C D

a 1 3 2 4

b. 3 1 2 4

C. 3 4 1 2

d 3 4 2 1

e. Answer not known
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39.

40.

41.

QUTHSHHIH:

ugel GmBHS ULF aulig
A. surgdh SHmevalT 1. 30 auwil
B. ouwras sienenssamevel 2. 25 auwgl
C. Geoordaum o _miilet 3. 35 auwg
D. grggwsur o mitn et 4. 35 auuwigl
A B C D
a. 1 3 2 4
b. 3 1 2 4
C. 3 4 1 2
d. 3 4 2 1
e. alemL Oz flwalsvemnso

Arrange the Following presidents from earliest to latest

1. Sarvapalli Radhakrishnan 2. V.V.Giri 3. Fakruddin Ali Ahmed
4. Neelam Sanjeev Reddy 5. KR Narayanan

a.2,1,3,4,5 b.1,2,3,4,5 c.1,3,425

d.1,3,4,5,2 e. Answer not known

S1pHeaTHSSILL (BeTeneupBelmba  auflewgd  HFwliuy  GQUTSHSHSmevalTHeler  GLIWITHm6T
Sl LouanenrlIL(hSHSHIS.

1. FreuliueTed FTHTE (6601601 2. V.V. &

3. USBSHET DV SHIABLOG 4. HeUD FeEhFeubITLIg

5. K.R mgmuiesorest

a.2,1,3,4,5 b.1,2,3,4,5 c.1,3,425
d.1,3,4,5,2 e. alewL O fNuwalsdenew

Arrange the prime ministers from earliest to latest.

1. Charan Singh 2. Chandra sekar 3. Rajiv Gandhi
4. 1.K. gujral 5. Deva Gowda

a.1,2,3,4,5 b.1,3,2,4,5 c.1,325,4
d.1,23,5,4 e. Answer not known

SpHHTamId  (Waiemer  LFswoisenet  aflengdluBH o  (DeuTdHeT upal audbldhsd e
SligliienL_uiled)

1. gyewrdlm 2. gphIHTCFHT 3. grdeusnhd)
4. LK. @gymed 5. CxpeuGmenLm

a.1,2,3,4,5 b.1,3,2,4,5 c.1,3,2,5,4
d.1,23,5,4 e. alewL Gafuwealsvemsv

Which of the following is not the discretionary power of the Governor?

a. Article 201 - Reserve Bill for consideration of president

b. Article 356 - Recommend imposition of president's rule in state

c. Article 167 - seeks information from chief minister relating to administrative and
legislative matters of state.

d. Article 213 - power of Governor to promulgate ordinance

e. Answer not known

SLDaU(HeUGTOUBBIGT 61H DLEBHHIT HIHBTT UIDLSSH6T eugTdHI?

a. FlLamp 201 — GRUWEHESSHMEVAIT QULTHINSETES LECFTHTHEHMm6N @HIHHH CFuiagl

b. g#lLamm 356 — WMHGHD GRUTHSHHmevalT oy fenwi ufibgieny CFUiaug

C. glL&m 167 — &lLD BB HTaumsd OFHTLILTST  HHEUDHMET (LPHL DIMFFIIL LD
Gl BLICLIBIHEL

d. siLemm 213 — ouenpller opusrss L Upiisen o few

e. alewL Gxflwalsvenso
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42.

43.

44.

45.

46.

The total number of ministers possible in Tamil Nadu and India is

a. 40 and 90 b. 39 and 94 c. 36 and 83
d. 34 and 87 e. Answer not known

SODBTH / BbHWTeled HHMN DMDFFTH6 B)(HhH6e0TLD?

a. 40 and 90 b. 39 and 94 c. 36 and 83
d. 34 and 87 e. alowL GaMuwealsvemev

Consider the following statements regarding the electoral college of the legislative council.
A.1/3 elected by local bodies

B. 1/12 elected by graduates of universities

C. 1/12 elected by graduated teachers

D. 1/3 elected by MLAs

E. 1/6 nominated by Governor

F.1/12 elected by trade unions

a.A,B,C,and D b.A,B, Cand F c.A,B,C,Dand E

d. All the above e. Answer not known

glLweap 2 BT W uBBlw SPESEIL SHBHeUeodeie0 FilwmaeuBens GuIULIL e
A.1/3 emgs omwlisenTed CHThOHHESLILIB6UT

B.1/12 uevsmevdasipos UL GQUBBaTHT0 BHThHO\SHMBSBLILIB6IT

C.1/12 uwrgml gfflwisemmed BHihHOSHBHBLILIBET

D.1/3 wihev gL oaB 2 miilermsented GHThOHbaHLILIB6IT

E.1/6 ayenmymed BunbdbsiinBaamntase

F.1/12 Gsmipsmisnisanmed GHibohBaaUILIG6IT

a. A, B, C wppw D b. A, B, C wipw F c.A,B,CD wpgw E
d. @mer SMTSHHID e. alenL Oafweaisvensv

Consider the following and choose the correct statement.

L. High court of Madras was established after letters patent by Queen Victoria on 26t
June 1862

I1. High court building is the largest Judicial complex in the world

a. I only b. II only c. BothIand II

d. None of above e. Answer not known

SpdamiLauBplen Fflwmer QFuighemw GBI ajwb

L. alsCLmflwr  wamyreniuler grgeiliug OCFaiewer o wibdh wemn  gger 26, 1862 60
BoeulIUl L G

II. 2 WITHHISB euenmsd, 2 6086CW 1HslOuflul BB eueTTaHLD

a.l w’@Gw b. II w (b c. ] wpp II

d. gasiedevemev e. alewL Gafuwealsvemnsv

Which of the following is not under the original Jurisdiction of all High Courts.

a. Admiralty b. Election disputes to parliament c. Matrimonial dispute

d. Criminal cases e. Answer not known

BSOS BT UBBIGT 61H 2 WITHH 0N DHSTT UTbLSH6T (PHeded GamemBeurLiLL aleoenen?

a. MiTeumssLd b. umgrepwaB CaHTeHed GFHTLTUTE LiF&FFmend e

C. FHHwewid FOLBHSILL L en6u d. @fflered eupd@sHer e. alewL Gaflualsdenso

High court does not enjoy the following Jurisdiction

a. Appellate Jurisdiction b. Supervisory Jurisdiction c. Advisory Jurisdiction
d. Writ Jurisdiction e. Answer not known

SDSHHEWILUBBIGT 2 WIHS LOSIB FLUL UTLDLSG6T UITHene 6Teneu?

a. Gusd(penmuib b. sewisTeniiiy C. o Beurgemen

d. spfweoemo bl L’ B HTe) sTanidHen €. el OFfluialsdensw
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47.

48.

49.

Match the following with correct options.

A. 7t Amendment 1956 1. Curtailed judicial review of high court

B. 42nd Amendment 1976 2. restored Judicial review of high court

C. 43rd Amendment 1977 3. Common High court to 2 or more states
A B C

a. 1 2 3

b. 3 2 1

C. 3 1 2

d 1 3 2

e. Answer not known

OUIT(hSSI:

A. Taugl FmsHsb 1956 1. 2 wipg e BHHUILSTUIR] DHSTID BHHSUULL S
B. 226ug:1 HmsHsd 1976 2. 2 WipHwaB BHUTTLIey HSHSMID Wenihd CFToslILL L i
C. $3aug Hmsabd 1977 3. Qyewih SIHBG GCBULL LOTHeVRISEHEE CLTSHeuTET

® WIMHSILDGIBLD
A B C
a 1 2 3
b. 3 2 1
C. 3 1 2
d. 1 3 2
e. alewL Gz flwealsbenso

Chairman and members of the state public service commission is appointed and removed
by

a. Governor in both cases

b. President in both case

c. Governor and president respectively

d. Chief Minister and prime minister respectively

e. Answer not known

OTH6Y LenflmenT QUITEHI SLenemiid SHeDevauT Hlwwetd / Béhabd wmgmed QFuuin®Gapa?
ShEMHHT

GLQUWIT&SH SHENEVEUT

WBGUW DUEHHT BBID GIQUIT&HiSHMeV6UT

BBW  (PHeL DIMDEFSFT LOBMILD LIFSHLOT

alewL  OFflwaisdensv

o0 o

Match the following with correct options.

A. Governor 1. Head of Government

B. Chief minister 2. Head of state

C. Council of Ministers 3. Tribunals

D. MLC 4. Responsible for assembly

E. Armed forces 5. Cannot vote for grants
A B C D E

a 3 2 5 1 4

b. 4 3 1 2 5

C. 5 4 2 3 1

d 2 1 4 5 3

e. Answer not known
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50.

51.

52.

QUTHSHHIH:

A. s\emHT 1. SITFTRISSHHET HEneLEIT
B. wpaed oiemw&st 2. OMH60 SFFeT Hem6evauT
C. wpdiser e 3. STIUTWIBIG6NT
D. g1 Gweveneu 2 miri et 4. FLLOOIBSHIHBEG CUTBILIL
E. syystiuenL 5. OTRNWRIBEHHE aITHHeNHS (LPIQUTSH
A B C D E
a. 3 2 5 1 4
b. 4 3 1 2 5
C. 5 4 2 3 1
d. 2 1 4 5 3
e. alenL Oz flwalsoemnso
Match the following with correct options
Article Provisions
A.163 (1) 1. total members of the legislative council of the state should not
exceed 1/3d total MLASs of state
B. 164(1) 2. CM appointed by Governor
C.164 (1A) 3. Council of ministers with CM as head to aid and advice governor.
D.171 (1) 4. Total ministers including CM not to exceed 15% of total MLAS
A B C D
a 3 2 4 1
b 4 3 1 2
C 2 1 3 4
d 1 4 2 3
e. Answer not known
QUT(HSHHIS:
A.163(1) 1. wmhev &L Guredeu o minlerisefle elewienidand, OTHL FL L DB
o _mitifent elewieaniidbamauiey 1/35@ Oadbanl g
B. 164 (1) 2. (PSHVMIDFFT LEHBIT60 HUILOSSIILIBESBITT
C.164(1A) 3. SIMDFFT GUD (IPHVMIDFFT HnevemiouTed LEHHHBESGL LfbHieny
Qauieul™
D.171(1) 4. W HeMFFOIULD BFTHd WwhHANseiem eeauenibmsd, FLL gL
o mitifentaer Qordhsg eaavanismauiss 15% wl G6w Bmobs Gouemi(BLd.
A B C D
a 3 2 4 1
b. 4 3 1 2
C. 2 1 3 4
d. 1 4 2 3
e. alewL Oxflwealsvenso
Who is considered as the father of modern political science?
a. Harold Lass Well b. Harold Laski c. Niccolo Machiavelli
d. Karl Marx e. Answer not known
“‘bajer Srfwed opflalwels HhHed 61T DIMPSHSUILGUGUT WTT?
a. Gamymedl evTerdGIAIEL b. Gamymedl”  eomerda C. MHHHTGe0T DTS U606
d. smieOLmTE6rd e. alewL GaMuwielsdemsv

Which are the components of state

a. People and territory b. Government and Sovereignity
c. Constitution and organs of government d. Bothaand b

e. Answer not known
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53.

54.

55.

56.

57.

58.

SFler (P FUW FnmIseT 61HI7

a. 105361 / 1DHH6TOHTENd OBEBID [Bleor I b. &yammisDd OBBID EEHBUITEBIENLD
c. odweoeniolil] FULID BB OFThis o piliyset  d.a wppid b SrewiGb

e. alenL Oz flwalsomnso

Father of the modern theory of sovereignty is

a. Niccolo Machiavelli b. Montesquieu c. Jean Bodin

d. C.F. Strong e. Answer not known

S1pHHMIL alTHeled “"Hajer Qenmpuwimesieny CHTL LT 196 HhHend 616l DlenSHSUILBLGUT WmT?
a. HaBaMGeor WwTHEWeaIe06e) b. WwreOLero&uy, c. a1 Gumgest

d. el eroL g e. alewL GaMuwealsvemev

Which is the main component of the state that determine citizenship status.

a. Territory b. Government c. Sovereignty

d. Population e. Answer not known

SaupLmeuHeTled 61FH  SIFFladeien  GdHIelaT HGHmw BTG (PpHSHU  STyemiTS
SHAINLGSBSHI?

a. Bleoliyiiy b. sysmmhisD C. BMBUWITEBIENLD

d. wéHeTOHTND e. alewL OxpMwaledenso

The Idea of welfare state of the constitution is contained in.

a. Directive principles of state policy b. Fundamental Rights

c. Union and States d. Citizenship

e. Answer not known

ObFHwraler SFFuieoenolilled WwHSH6T Heo SFd UBPw HbsHmeremnwl o 6o s LG
a. opdlen auPsHET B CBY(WeBHET b. ouliueL o Menioseit

C. @&MWID OBEID LOTHeVMISHEIT d. erufeno

e. alewL Gxflwealevenso

The radius of a tractor wheel is 77 cm. Calculate the distance covered by it in 35 rotations? (

user = 7)
a. 14690 cm b. 16940 cm c. 19460 cm
d. 10649 cm e. Answer not known

QUH ITELT eUeNIgsF FHaIHFHer b 77 GF.15 eeled, ik 35 wep S&BpIbCUTH, HLEGLD
OFHTenevEMEUS SHTENISH. (7z=76m&l&5)

a. 14690 Gg..5 b. 16940 Q.15 c. 19460 Q.18
d. 10649 Gg.5 e. alewL O fuwelsvensv

The radius of a sector is 21cm and its central angle is 120°. Find area of the sector.

a. 44 sq.cm b. 86 sq.cm c. 241 sq.cm

d. 462 sq.cm e. Answer not known

QM el L&Caremiugdulear b 21 0F.15 wBpid DiHaT mwwsCsrenid 120° seilsd  DiFHer
LTLILIGTeNG  SBT6wIsH.

a. 44 5.05.15 b. 86 &.0F.15 c. 241 5.05.18

d. 462 5.05.5 e. allewL Oz Muwialsvenso

The length of a chain used as the boundary of a semi-circular park is 36 m. Find the area of
the park.

a. 44 sq.m b. 55 sq.m c. 66 sq.m

d. 77 sq.m e. Answer not known
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59.

60.

61.

62.

Sm] @l L algafleorer LmIST @emler eebemev Gouellwmsll LweTUGSHSUIUL Beiten  Fmiglevlullesr
HeD 3615 eTeriled LmISTal6 LIFLILIGTeN6IS SHTeulH.

a.44 5.8 b. 55 .18 c. 66 .15

d. 77 5.8 e. alenL  Gafweaisvensv

If the length of the diagonal of a square is 20 cm, then its perimeter must be :

a. 20 cm b.20+/2 cm c.40 cm

d. 4042 cm e. Answer not known

QRH FHTSHHE cpmevall L GHFHler Hembd 20 GFLS 6IeIBIed, SHISH6T SHBB6N6] 6IaIRIeUTES E)(HEEGLD
a. 20 G&.18 b. 202 Gs.6 c. 40 Gz.18

d. 402 Gs.8 e. alewL  Oafwalsbensv

The length of a rectangle is increased by 10% and its breadth is decreased by 10%. The
area of the new rectangle.

a. remain same b. is increased by 1%

c. is decreased by 10% d. is decreased by 1%

e. Answer not known

b OaaiussHer  pemd  10%  oHsfsasluGHBas  LBBID - DBET  SBHeod  10%
GMBEHBLILGSBH 61660 UFHW OFeleussHHlet LIFLILING),.

a. WIBToedHEESID b. 1% oiFaMsED

c. 10% @epud d. 1% @opub

e. alowL  GgMwalsvensv

Match the following with the correct options

A. equal opportunity for education 1. Political equality
B. Rule of Law 2. Civil equality
C. Right to contest in elections 3. economic equality
D. equal share in management 4. social equality
A B C D
a. 4 2 1 3
b. 2 1 4 3
C. 4 1 2 3
d. 1 4 2 3 e. Answer not known

gflwmer elenLuwjL e OQUT(HSHHIH:

A. SmTeUHBGHID FIOWTET H6evaT UTUILILEEN 1. opflwed FodhHleud
B. slLgder o g 2. GYMLD FLOSHJHIAILD
C. Gximeded Gumigui®Gd o Menio 3. QUTHEMTHTY FLOSHSHIGULD
D. Guweuremienioulled FLoLmiE 4. Fps FOSHHIAID
A B C D
a. 4 2 1 3
b. 2 1 4 3
C. 4 1 2 3
d. 1 4 2 3 e. alowL OaMuielsdemsv

Match the following with correct options.

A. Right to establish and maintain institutions

for religious and charitable purpose. 1. Article 29

B. Right of minority to establish educational Institutions. 2. Article 30

C. Right of freedom from attending religious instructions 3. Article 26
4. Article 28
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63.

64.

65.

66.

A B C

a. 1 2 3

b. 1 2 4

C. 3 2 4

d. 3 2 1

e. Answer not known

QUTHHSHIH:

A. g oBpID OFHTewI(H HBleUETHIGEMmeT 2 (HauTdhs UFTfs@n 2 Menlo 1. 5763 29

B. fpunerenioulenm seval HBIOUEIHIGEMT 2 (HauTdh@EHaSHBEHTE 2 Menln 2. 515& 30

C. g Gursmeaisamer Bsl G GGHbHTHHBETRn 2 fleanio 3. F75@ 26

4. g75H3 28

A B C

a 1 2 3

b. 1 2 4

C. 3 2 4

d. 3 2 1

e. alewL Oaflwelsenso

The Indian political thinker who proposed radical democracy was.

a. M.N. Roy b.J. Nehru c. Gandhi

d. Ambedkar e. Answer not known

saly (perCembBeuTs ohseNTL g (peupenl UMbHSHMISHS DhHU! HFSUed SlHHeneTumenT wmiT?

a. MLN. gmul b. meuamimevred GBH(H C. &MhJ

d. onBussi e. alewL Oafweailsdensv

Federal system in India is based on the model of which country?

a. Canada b. UK c. America

d. Japan e. Answer not known

OhHW Sl LT (pevdB 6lhFH BHILIge LoTdifluleomeng?

a. eIl b. @nideonhgi C. o|OwfEsr

d. sgriumest e. alewL Oafuwalsdenew

Which are the features of the parliamentary form of government.

I. Nominal and Real Executive II. Leadership of Prime minister

III. Majority party rule IV. Double membership

a. I and IIT only b. All the above c. I, Il and III only

d. None of the above e. Answer not known

UTJT@BHLOGIN (LPeDB DIFFTHISSHH6T DIDFRIH6T 6Ten6u?

[. Quuiyerey BEID o ewreniowimer Gguwieom & II. dysw whHHNUNET Henevenio

III. Qugpbureteny GUBB IFuied &l Fuller S g IV. @1ienL o mililenymge0

a.l wmpd III G b. GuBEeaii. SimaTHHID c. L I wmpid III o Bb

d. 8emen eigia|060em6v e. alewL Gxfwaledenso

Match the following

A. Politics 1. Karl Marx

B. The prince 2. Aristotle

C. Leviathan 3. Thomas Hobbes

D. Das capital 4. Niccolo Machiavelli
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67.

68.

69.

A B C D
a. 2 4 3 1
b. 1 2 3 4
C. 2 3 4 1
d. 4 1 2 3
e. Answer not known
QUTHHSHIH:
A. gpfuied 1. &6 LDMTH6M
B. & Wfes 2. oflerdLm 1960
C. OQovallwigmest 3. SHTDe QMTLIErD
D. gmed smiLed 4. HHCHTCT 1OTHH UI66060
A B C D
a. 2 4 3 1
b. 1 2 3 4
C. 2 3 4 1
d. 4 1 2 3
e. alewL Oz flwealsvenso

The simplest form of plurality / majority electoral system is.

a. FPTP b. block vote c. Party block vote

d. Limited vote system  e. Answer not known

BCaiTmHed60 LTenGSHIOID / QUBDLITEEDID (LedBuile 6161MeNIOUITET GUIQEILD  6TETLIG

a. (PWHeJed Bemevenilds BLbhgH Gasvesbed (FPTP) b. Qamgd ansg (BV)

c. sl dg 0z1ed aursg (PBV) d. ueyumissiul L auTdhE@ (Weds
e. alewL Oz flwelesvenso

Which of the following statements with respect to be delimited on basis of elections is /are
not correct?

L. Part XV of Indian constitution deals with elections.

II. Article 324 - 329 of Indian constitution are related to elections

III.  Article 326 of Indian constitution says that elections to Loksabha alone shall be on
the basis of adult suffrage

a.ionly b. ii and iii only c.ii only

d. iii only e. Answer not known

BDHHMIL TS WnIE6eTNed CHTHMIGHT aUMILIMBUIET Lig o1& / 6lenel HaumpTearenel?

L. psw opfweoemoliier LGsH XV BxiTseosen UBSIWLSTESLD.

II. ObhHw SIFweoemoliled UL sgmml 324-329 CaTHe0HEHL 6T OSHTLTLEHL WemeULTGLD.

. Epdwu sgdwempiia & Lesmp 326 ou@ig  bdsma  CHiTsesear ol GOW
auwgIeubCaHTT eutd@fenouller SigliienLuleomearenel 6TaTSBaEI.

a. ]’ @Gw b. IT woimib T o1 Hid c. IT i @b

d. T o Gid e. alewL Gafuwealsvemnso

Arrange the following in logical order

1. Notification of election 2. delimitation of constituency

3. Notification regarding nomination 4. filing & verification of nomination
5. Polling 6. campaign

7. announcement of election results

a.1,2,3,4,5,6,7 b.2,1,3,4,6,5,7 c.2,31,456,7
d.1,2,3,4,6,5,7 e. Answer not known
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70.

71.

72.

gflwrer suflewaliug (WeBLILGSHHIS.

1. GxiTeped Ssilaili 2. Oa1EHsemen wpEUMTLImB CFUI1%H60
3. Gauly ey FHrhsev upPw sl 4. Coull e SHTHHeL (10) FHUMTHSH6E0
5. aUTSHHMNSHHE0 HEOL (LPeNM 6. CaiTmHed UTLIDT

7. BxiTzmpe0 (e Benen SHipfalddHe0

a.1,2,3,4,56,7 b.2,1,3,4,6,57 c.2,3,1,4,56,7
d1,23,4,6,5 7 e. alewL GzMuelsdemev

Consider the statement and choose the correct answer

L. Negative voting was provided under section 49(0) of conduct of election rules. 1961

I1. voter can cast negative vote in form 17A

III. ~ NOTA provides 'right to reject' which section 49(O) did not provide.

IV.  NOTA ensures right to secrecy

a.l, Il and III b.Iand II only c.], Il and IV only

d. All the above e. Answer not known

AUTHSHWHIBM6NDH HHHHeL OaTeni® Fhwmer almLemuwld CHiTebguis.

L. CaTaed BLHMS alFpenpset 1961, Lfley 49(O)-a1 Ly aHTenB UTHHEMNHHE 6IENILD
DIDFLD GUIPHIBLILIL L Gl

II. ugeud 17A - 60 euTSHST6NT CIHTOMB eUTHS e O\FaVIdh S He0TLD

I1I. Ufley 49(0) eued eupmislLLTES Birafsen o Memwenwt NOTA  eupnigd B

IV. NOTA gsdwub a1 o fawamw o pisesFuiding

a. L, IT wppnp 11T b. I wBpid 11 w1 Gib c. L, IT wpmid IV 1o Bd

d. smaibgibd e. alewL Gafwalsdenso

Consider the following statements and choose the correct answer

Assertion (A): Directive principles of state policies are enforceable through courts.
Reason (R): Fundamental rights are basic rights of a common man.

Both A and R are true and R is true correct explanation of A

A is false, R is true.

Both A and R are true but R is not a correct explanation of A

A is true, R is false

e. Answer not known

SPHBMIL  UTHSWLIBISHM6NS S[HHFHeo OsTeni(h Fiiwmar almLmwsd CsiTey Gauis.
aBm (A) : auflaT G CBN(WeBHMET BALGBHSTEO BMeOLILIBSHDH (LIQU|LD

smyewd (R): omgliuemL o Menwssil eeaiLemer sTgmyen wealgeaier o flennsam@Lb.

a. (A) wppid (R) @remid sfwrenenet (o) R etaiiug A-gr gflwmer alendason@Ld

b. (A) seup (R) &

c. (A) oppid (R) @yewin aflwraemey eyemmed (R) eeiugr (A)ssr silwmer alendasiosoen
d. (A) sf (R) seum

e. alewL G flwailsenso

S

Which of the following is incorrectly paired?

a. L.M. Singhvi committee - 1986
b. G.V.K Rao committee - 1985
c. Ashok Mehta committee - 1977
d. Balwant Rai Mehta committee - 1960

e. Answer not known
SIPHHWILUBBIeT HouBTeLl CUITHHSHW|eTeng 61gI7?

a. LM. fmel @ - 1986
b. G.V.K. gmei @ap - 1985
Cc. 98sms BuwHsT G - 1977
d. ueveupSHITUI CHBHT GH1D - 1960

e. alenL Oz flwalsvenso
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73.

74.

75.

Which are the articles in the constitution dealing with the local government
a. Article 3A, Article 43A

b. Article 300, Article 300A, Article 243 to 243 ZG

c. Article 40, Article 243 to 2430, Article 243P to 243ZG

d. Article 31, Article 117 (1), Article 49

e. Answer not known

SITFWeoemIDLILNed oaeTenTl & DIFFTRISSHSHIL T OBHTLTLDL U FL L SHInBIH6T WTeneu?
FlLGFImM A, FlLsbammp 43A

FlLsamp 300, giLsgmp 300A, 5 Ldammpl 243 wpHev 24372G

glLsamm 40, slLdamm 243 - 2430, gl Lsamm 243P - 2437G

FlLsamp 31, slLsamp 117(1), slLdamp 49.

alemL Qg fualsoensv

®an o

In the following which is not a recommendation made by Lord Ripon under resolution of
18827

a. Presence of majority of nonofficial

b. creation of rural boards, tehsil and district boards

c. nominated members to be 1/3t of total strength

d. Municipal commissioner nominated by government

e. Answer not known

Mouer Wyyelest gmomend 1882-a81 Ly wfipgieny CFWIWINLLTSSE 6157

a. Sveued Fmgm o pifernTseiler GLUBHLDLTEIN B)(HESH60

b. eays eurflwkiser, HTde0mern WOBBID WTeU L euTfWBISEm6T 2 ([HEITHESH60
c. Qs caaibmauley 1/3 ukig Buwner o BIleamsenTs B)(hdhdHe0

d. epgmhsd BeITL S Suemeniulm] HuwilldgHe

e. alewL Gxflwealsbenso

Match the following

Article Provision

A. Article 40 1. State Finance commission

B. Article 243 B 2. State Election commission

C. Article 234 K 3. Constitute three tier Panchayat

D. Article 243 1 4. State to organize village Panchayats
A B C D

a 4 3 1 2

b. 3 4 1 2

C. 4 3 2 1

d 3 4 2 1

e. Answer not known
SLpSHEHENILaUBMBL  CLIT(HIHSHISH:
FL L&D DIWLOLILISH6EIT  (DILDFRIGHEIT)

A. g5z 40 1. THev M SLewemIuiLD
B. sr5a 243B 2. 1DTHeL BHTHEL LemeuuTuiLD
C. grsas 243K 3. opaiml HIBBG LEhFTUHIHIBMET HBIe|He0
D. gysa 2431 4. EITD UEHFTUSBIHM6NT DIGNLOGHSHE0
A B C D
a 4 3 1 2
b. 3 4 1 2
C. 4 3 2 1
d 3 4 2 1
e. alemL O fluwailsenso

21 | Page PH: 044 - 24339436, 42867555, 9840226187




76.

77.

78.

79.

Which is not a provision under 734 constitutional Amendment Act, 1992?

Gram Sabha as foundation of Panchayat raj

State having population above 20 lakh to constitute 3 tier Panchayat

Governor shall constitute finance commission once in every five years

. Ward committee is constituted for a territorial area having population of 3 lakh or more
Answer not known

3uzl odlweuedolild HHHHF FLULID, 1992-651 SPTT DIDFID DleLeVTH 61517

SO FOUWTRISH LehFTWSHS JTTe36T DlgHSHeNIonsd 2 6iTend)

W&HFHTOSHTMS 20 VL FHHHGWD WOSMOEL 2 66N  OMHeVRIB6MND 3 DIBHG UehFTUSHDHIHM6N
Bnieu Geuemt(HLd

SLEDHT 5 UWIBHS PH (LPOB LOTHIEL BAHHEGH(Lemer  SIELOLILITT

MT(h  GIPUTEIHI  OHFH6T OHTensd 3 Sl Fld SHevevd DSBEG GCuBulL UG Huied
SIMWESUILBBBSHI.

e. alowL Gafweiledenso

S0 a0 o

S

0.0

Tamil Nadu Slum clearance Board was established during the tenure of

a. M. G. Ramachandran b. M. Karunanidhi c. K. Kamaraj
d. C.N. Annadurai e. Answer not known
wrpemLw o Fuferr Gungl, SUOWDBTH GMFTBBI UTTIWILTEISHI SHleUnRISILL L .
a. M.G. gmwghdlyes b. M. s@mewimmHd) c. K. smogmeg
d. C.N. sewienimgieny e. alowL Gafuialsdemed
Match the following
A. Hindi made official Language 1.1857
B. State reorganization 2.1938
C. President of Justice Party - Periyar 3. 1965
D. Madras University 4.1956
A B C D
a. 3 4 2 1
b. 4 3 2 1
C. 3 4 1 2
d 1 3 2 4
e. Answer not known
QUT(HSHIS:
A. 8HF Sigveues GomPulmerg 1.1857
B. wmilev opidyenioliL 2.1938
C. QuilwnT paHesl Fuier HmevaurTerg 3.1965
D. Gl gmed LeOSHMme0HBLHID 4.1956
A B C D
a 3 4 2 1
b. 4 3 2 1
C. 3 4 1 2
d 1 3 2 4
e. alemL O flwailsenso

According to cabinet Mission plan, provinces and princely states were allotted seats
proportional to their respective population roughly in ratio of?

a. 1:1 million b. 1:2 million c. 2.1 million

d. 3:2 million e. Answer not known

SIMFFTM  HIHHGHL HULSHHILIG, DIFOBU  LOTEHTENIHIE6NT, FCHF ITHFHET  DIGLVS
oaselar GHWdhHelled DmbH DB LSHHETOHTMHHEG GBBLILIY aeild  al&HHH 60

o mliilenTael @@&Hds®B Gauiwiul L err?
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80.

81.

82.

83.

84.

85.

a. 1:1 weveduwiest b. 1:2 10evedwiest c. 2:1 eveduiest
d. 3:2 fievewiest e. aleowL Gafwalsdenso

Advisory Jurisdiction of Supreme court was adopted from?

a. GOI Act 1935 b. Britain c. Weimar constitution
d. Canadian constitution e. Answer not known

o FFHAHaBHHT SBleyeny SHIHSTT eI eTalell(hbd UL L7

a. @hHw o&HEF FULb, 1935 b. LML L 6ot C. QuUIDT SIFFmLOLIL
d. st SFFmLOLIL e. alewL Ggflwalsvenso

Which article in the Indian constitution brings out the Balancing parliamentary supremacy
with Judicial Review?
a. Art. 13 b. Art. 145 c. Art. 148

d. Art. 143 e. Answer not known

abd OhHw  orFmlilsr Fplysampiseiled @amTe HH  FITUIe  FLOBEMeD  [HTLTEHLOGIS
GueuTgHesld BenentshaLILIL (helTerng?

a. aysa 13 b. #ysa1 145 c. 57HaE 148

d. syse 143 e. alewL OxMNweailsoenev

The important debate on the use of Tamil as court language in Tamil Nadu was dated?

a.2 Aug 2014 b. 2 October 2014 c.1July 2014

d. 1 August 2014 e. Answer not known

SOIDHTLIQEL BHIWSB  Gomhlwns Hlenp LWSILBGSHSHIHD 66aiid (WpheSlw alleursd  61iGLTSH
BOL GLMBBEHI?

a. 2014 gymerol 2 b. 2014 &1BGLmuT 2 C. 2014 agremev 1

d. 2014 symerdl 1 e. alewL Oafwalsdensv

Who eventually drafted Art 370 in COI?

a. Dr. B.R. Ambedkar b. Gopalaswami Ayyangar c. AK. Iyer
d. K.M. Munshi e. Answer not known

@b spFweosnwoli Lifley 370 — & erpdHweu wimir?

a. Dr. B.R. 9ub@ugait b. Gxmumev Feum  sUILIMBISTIT c. A K. sswir
d. KM. wsiiad e. alewL Gxpfwaledenso

Which constitutional Amendment Bill is commonly known as the Women’s Reservation
Bill?

Note: The Bill proposed 33% reservation for Women in parliament and state legislature.

a. 116tr Amendment Bill b. 118t Amendment Bill

c. 108t Amendment Bill d. 106th Amendment Bill

e. Answer not known

CueniBEpHETET Bl HHHL(H FLL (PaTeUenTe| 6IQMBMWPSESILGL BhHu SFFmilsF FUL
Waeuemye| (HphSsF FLLID) 6157

@Ml CUETTSEHSHE, BTLTEHOGPBID BB  FULWSBRSeN0 33 FHaldh BLadHdbdl BdHEG
QUMBFOFUILID FL L (LPGITEUD]T6Y

a.116 eugl HHSHHFF LD b.118 augl HHSHFFL LID

C. 108 augl HmBBHFFLLID d.106 eug HmBHEFS LD

e. alemL O flwailsenso

Marriage, Adoption, Succession fall under which lists in the 7th schedule?
a. Union list b. Concurrent list c. State list
d. Irrelevant e. Answer not known
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86.

87.

88.

89.

90.

FHmwawid, HEHH  BHH0, anfafeow  Pwemen @hHw  opfwevemriiar  7-eugl
I Lauenenruled 6lhg LILIguiedled @)L bOILIMBM®IeTeTes ?

a. et UL 1gu1ed b. QU LI 19uIed C. LOTHl6VLT LI QU160

d. QuTBSBLOBBEME e. alewL Gzflualsdenso

The area of a trapezium is 352 sq. cm and the distance between its parallel sides is 16 cm. If
one of the parallel sides is of length 25 cm then find the length of the other side
a.8 cm b.16 cm c.19cm

d.25cm e. Answer not known

ugliueney 352 &.0515 wLBBID B SmNIlILSIRISEHSSHmLCuwnear  OFTemeve] 16 6F .15
OarewiL  FfloudsHHer Semenill LSSHIGBMN60 el Sene] 25 6F.15 eeled, LBOBTETMBES
HITEUT .

a.8 Gg.16 b. 16 G&.15 c. 19 Gg.18

d. 25 Q5.6 e. alenL  GaMuwalevemev

The height of the parallelogram is one fourth of its base. If the area of the parallelogram is
676 sq. cm, find the height.
a.4 cm b.13 cm c.48 cm

d.52 cm e. Answer not known

676 g.05.15 ugliuene] CO&TewL @ SMEISIHHET 2 WJD DIH6T DYLUSSHHH60 460 (H LIMIG
TN, DIHET 2 _WITHMSD BHTEWIH.

a.4 Qg.8 b. 13 Q&.15 c. 48 GF.18

d. 52 Gg.16 e. alew OaMuwaisdensv

Area of a square is equal to the area of a circle. If the radius of the circle is 14 cm. What is
the approximate length of a square?
a.20 cm b.25cm c.15cm

d.30 cm e. Answer not known

FHTSHIT LTLLGTYD 6ul L SHFHleT UFlileneyd &b, el LSHHeT b 14 QF.15. erefled FHTHHl60n
UsSSHHer Capmymul Siemey wimg?

a. 20 Q&6 b. 25 Q.16 c. 15 Qg.18

d. 30 Qz.16 e. alenL  Gafuweailsvensy

The floor of an office building consists of 200 rhombus shaped tiles and each of its length of
the diagonals are 40 cm and 25 cm. Find the total cost of polishing the floor at Rs. 45 per

sq.m.
a. Rs. 45 b. Rs.450 c. Rs. 4500
d. Rs. 45000 e. Answer not known

T DIVIeIvsd S LG Homguled 200 FTUIFHIT eugaleoTer @BH6T LHHSILL (HelTerner. g bHoere
cpemevall L misefler  Sleeysmse 40 QF5 wBpd 25 OF5  eefley, HmFmw  GOHILLF
FHTOL L (h&HG . 45 aipld CTHHF OCFeveneud SHTewIH.

a.ep. 45 b. em. 450 c. em. 4500

d. em. 45000 e. alenL  GaMuweailsvemev

A square and an equilateral triangle are drawn on the same base. The ratio of their areas is:

a.2:1 b.1:1 c. \J3:4

d.4: \/§ e. Answer not known
QU FHID LBBID @ Foudsds (PECHTID SFwmal CF SIRlITEHmSH OBTERIHETENHI.
SluBBlesT UTLLeTaHEHSGH SenL Cuiwimer alldHib:

a.2:1 b.1:1 c.\3:4
d.4: \/§ e. alenL  Gxfuiailevensy
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91.

92.

93.

94.

95.

Which of the following committee Scrutinise the Appropriation Accounts of state and
Report of CAG (civil)?

a. Estimates committee b. Committee on Public undertakings

c. Public Accounts Committee d. General purpose committee

e. Answer not known

rHlevnisellea RHIESH HMSGHHMEMUD BbHH DJsHd MHSGHDH SHMISmDH Heneveutler
(Blarh) SPismEdmUWUID SUIe| CFUIeE @G Waler (WeHHw LieiwmEL?

a. wHII B & b. QUTEISSHIMB  BBIe6TSE 1D

C. QUTEHI HEWIEEGHE (LD d. Qurg CrTEGHE (1

e. alemL Gz flwailsenso

Executive power exercised by the president directly or indirectly is enshrined in which
article?

a. Art. 51 b. Art. 52 c. Art. 53

d. Art. 54 e. Answer not known

ObhHw  aPusdHear gl  SIFETTHMS  GLYWTEHS BHMEVAU(HES SefliugI T SjeuBeny3
GrrguiraBeut, wWmBWsLTHCMT CFWUGSHS auend OFUIUD FULbImpl 6157

a. FLLéImml 51 b. s L&anm 52 C. FLL&bamm 53
d. s 1Lsanm 54 e. alewL OxMwaledenso

Which Article puts governor as the part of state legislature conferring legislative powers to
him?

a. Art. 156 b. Art. 158 c. Art. 166

d. Art. 168 e. Answer not known

SLEBBT  WIHVF  FLLIOOBSHDHO @Ih UGSGH L. aeiGel, ST FLL DIFBTIEISEm6N
Cameni(heTenTT aIdiUenS GSUBIUIGL FULSawBI 61517

a. . Ldbamp 156 b. &1 Lsbanm 158 C. gl Lséanm 166

d. sl Ldamp 168 e. aleowL Gafwalsdenso

In 1921, who was the first person in the legal history of India to realize the necessity of
establishing an All India Court of final appeal in place of the Privy Council?
a. Sir Hari Singh Gour b. Sir Hari Singh dev c. Justice Raja Gour

d. Sir Gour Singh Dev e. Answer not known

1921-60 @mFHdsl L Cweopempuil hésts Ufhgh  GFsveomwed @hHwralGeoBu  Guedpemmuih
Caud H DMASHHHHIU HMEVMLD HHLOBBSHHE CHeneuenu! 2 _euorThHHeuT WT?

a. s amfl fm Gsir b. 51 amf A Cpel C. bHug gregr Gamit

d. s Gat dm Cxpel e. alewL Gafuwealsvemsv

Which justice became the first Judge from the depressed class and also the first Dalit Chief
Justice of supreme court?

a. Justice K.G. Balu b. Justice K.G. Balakrishnan

c. Justice Manikandan d. Justice K.G. Ramabalan

e. Answer not known

eteupUauTa@ber W Ul puedenhHeuT FPSHTWSHH0 SHbHH (PSHOWmBWTS 2 FFHEH 0SB
pHUHWTE  BubSsOULG UL QUIISHMSF  FTMhs  (PH0 BhHHU  HeU HHUSWTS
o WIMhSTT?

a. pHug) K.G. urey b. U K.G. umeodmagemtest

C. BHUS LD6w0f b 6wTL 68T d. palug) K.G. gmoumevest

e. alenL Ozflwailsvemnso
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9.

97.

98.

99.

100.

introduced the term judicial activism in America in an article titled
a. Arthur Sclesinger Jr., “Judicial Activism 1948”
b. Justice P.N. Bagawati, “Judicial Activism 1948”
c. Arthur Schlesinger Jr., The Supreme Court 1947”
d. Justice P.N. Bagawati “The Supreme Court 1947”
e. Answer not known
SI6MNBHTATE0 GTGHTLIGUT ey Sl L & By  QaImed “Judicial
Activism” et QFTe0eenest SIN(LpeBLILIH S aorTiT?
a. QYTHSHT CageodmasT egeelwim, “BHaHdHamp QFweouTl (B (pedm 1948”7
b. pglugl P.N. useud), “padgmems Gaweour’ B wewp 1948”7
C. QTHT OageddmIsT greflw, “o FF BHHLSMD 19477
d. palugd P.N. useud), “o &5 pdwemn 1947”7
e. alenL Oz flwailsvemnso

Which article allows provisions to establish Inter State Council to serve public Interest?
a. Art. 261 b. Art. 262 c. Art. 263

d. Art. 264 e. Answer not known

ObHw  osFmwile 6abs 2 @] CuTsH  HLMISETS  LOTHEVRISEHESMLGW G (e
® (HEOUTHSHEVTID 6160 FnmISIBaHI?

a. 2 _miy 261 b. 2 _mitiy 262 C. 2 miny 263

d. o _miny 264 e. alewL Gafuwalsdenso

Who called Art. 356 as a dead letter of the constitution of India?

a. S.R. Bommai b. T.T. Krishnamachari c. Ambedkar

d. Nehru e. Answer not known

@b Sdwevemoliier o @] — 356 &8 oFmwliler @BUL SPHD eTeiml U6l dHeuT
wimir?

a. S.R.Gumbento b. T.T. Hmagewiorgamt C. OINDBUGHIT

d. Grm e. alewL Gafuwealsvemsv

The composition of UPSC has been

a. Laid down in COI

b. determined by parliament

c. determined by President

d. determined by Union Home Ministry

e. Answer not known

wHHW D& ueoiwment CaoiTeuTenswiulds @ paler Sienioli?
a. QIIFMLOLILNL FnmLiLL (HeTeng)

b. BTLTEBLOGBEHSTeL (p196y GQFUILILILLL &)

C. GWTFHBHMEVUTTED SHTLOTENSBLILL L

d. o_6iigimm SIMWFFSHBTE0 (1pI9a)] OFUILILILIL L &)
e. alemL G flwailsenso

When and by which operation Hyderabad was annexed to the Indian Union
a. October 1948, operation Vijay b. September 1949, operation polo
c. September 1948, operation polo d. October 1949, operation Vijay

e. Answer not known

eIGUITE!  LOBBID  6TEUMEMBUWITET L 6UIQHMBUTT  LPELLDTS  MABSHITUTSH EbHHUI  Q6NSIUISHHIL 60T
Benentd sl L g7

a. 1948 &1aCLmuT, SLCTageT allegul b. 1949 Qg ibur, o iGreager GumGsor

C. 1948 Qg ibu, suLGrager GumGeor d. 1949 oBCLTUT, LIGTageT efagu’l

e. alenL Oz flwalsvemnso
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101.

102.

103.

104.

99th Amendment act 2014 provides for?

a. Constitutional status to Nationa Commission for Backward Class

b. GST

c. Establishment of National Judicial Appointment Commission

d. LBA Amendment

e. Answer not known

99-0uzl HHSHHFFLLID, 2014 61HBETS OQBTeRIGeuFLILIL L HI?

a. UBuGHSIULL  eu@lienmpdstal  Cafw  uemewbHIBEG  SFuweveniolll]  ibGHer0SI
6ULDMRIGH SH6.

FJ5@& ppId Cxemeu eurfl

Bxpdw BAHIEGB BT HLEDETLSHMDSH HBIOEIHBHTES ULDHISBLILIL L H
LBA L& mHPID

allenL  OFMwealedensv

o an o

Which of the following are matters on which a constitutional amendment is possible only
with the ratification of the legislatures of not less than one-half of the states?

1. Election of the President

2. Representation of the States in Parliament

3. Change in any of the Lists in the 7th schedule.

4. Abolition of the Legislative Council of a State.

a.1,2and 3 b.1,2and 4 c.1,3and 4

d.2,3and 4 e. Answer not known

spdbpewi  sTilwmseisd  6abhd SPFweoemoly  HmsHsmser GuBbsTeteniuBl QLTS
nplevmiseiles  LIFgdpdlaeien @lLHe0H6T @HHul WibHeomsefler UTH LoTHevmisaie  eUILgH60
GumULL. Geuemi(HLD.

1. GRWIS SHEHELGUT

2. UMITEHLOGITBES60 LOTHIELVHIBEHSSTET LITSH S SHHIeLD

3. Teugl Sl Leuenewiuiled o eitenm LI Igulebdeied mBm GopesTeremiinGbCuTg

4. wrpevdFHlen FLL BGevensl HeMeLHBLILIHSH6D

a. 1, 2 wppid 3 b. 1, 2 wBpb 4 c. 1, 3 By 4

d.2, 3 wBpids e. alewL Gafueaisvemsv

The power of the Supreme Court of India to decide disputes between the centre and the
states falls under its:

a. advisory jurisdiction b. appellate jurisdiction

c. original jurisdiction d. constitutional jurisdiction

e. Answer not known

&HHW wrHev  SP&sEsHmLCU  gBuUBL  BHBHH  CaupumiedL  BHGL 0 SIGHSTID
® FFHFHOGBHHBEG 2 wi[B. DFH SHHEWIL 6hH HTILTLSH S aUHBBSI.

a. o1BeuTFemeT FL L GUJIDL] b. Gwevopenmpui® &L euyibLy

C. ®_6uIenloulTe &L L 6UJLDL] d. siydwevenioliy FLLeuyibL

e. alewL G flwailsenso

The concept of Public Interest Litigation originated in

a. the United Kingdom b. Australia c. the United States

d. Canada e. Answer not known

QUTHI BV UGG 61 DIDFLD 61HFH BTLIGED 2 (HEUTEIHI.

a. O Lesr b. o1er0a)CGredwim c. 9I0flds gmadw BIlH
d. sem e. alenL Gafwealsdemnso
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105.

106.

107.

108.

109.

Which of the following are/is stated in the Constitution of India?

1. The President shall not be a member of either House of Parliament.

2. The Parliament shall consist of the President and two Houses

Choose the correct answer from the codes given below

a. Neither 1 nor 2 b. Both 1 and 2 c.Only 1

d. Only 2 e. Answer not known

BHDHBILUBDIET 6151/ eTenausell @bhH W Sdwieoentoriled GUIULILCILL BeTeNl.

. @b GRUISFSHHMEVAT UTITEHOSIBSHSHE 6IHTaUH T Deweuulled o minlemrs EHHs
Gouemtigus CxHemeu E60L6M6VD

2. UMIT@HOGIBLD GHQUIT&HS HMELeUMIULD, FIemel OCBTemiL SIDWILTSHAD SHTewILILIGSBSI.

SpHHMIL  GHBUI 1gaT 2 FHalwmed Fflwmer uFHemev H(Ho.

a. QyewiBD BeVemn6eV b. &yewiGLd c.1 Wl B

d.2 wl @b e. alewL GaMuwealsvemev

The Dinesh Goswami Committee recommended
the constitution of state level election commission
list system of election to the Lok Sabha
governmental funding of parliamentary election
a ban on the candidature of independent candidates in the parliamentary elections
Answer not known
Geotord Gamerveumll @ alledt UMb ey
LMHlev Slealled BHTHL SuememiiD 2 (HeuTHSLILBHSHD
GoordhauralBE eauflns Siemwlled GHTHe0
urgrepaBsh CHTHaSETE DITa BHFH @S5G
urgmenaB CaTaeled alwdms Geaul LmenTseT BBLUMS HHLILSBEHTE SL60600T.
alenL  OFflwailsdenev

SN oG an o

The Constitution of India recognizes

a. only religious minorities b. only linguistic minorities

c. religious and linguistic minorities d. religious, linguistic and ethnic minorities
e. Answer not known

ObhFHWw DIFWeVmIOLIL] 610d GJBBISOBTETSBSI.

a. Fiowl FpIuresTenioenul 1oL (HLD b. GuomyY Fmiumeiento oL BIb

C. oW LBEID Cwmh FHBUTeTenLo d. giow, Guwmf wBmID Qe BILTeTemNLD

e. alewL O flwelsvenso

The purpose of the inclusion of Directive Principles of State Policy in the Indian
Constitution is to establish

a. political democracy b. social democracy c. Gandhian democracy
d. social and economic democracy e. Answer not known

omBlevmisehdsTer Chrg Camium’(p Csmeimsmul @bhaHw Spdwevenwliied @b CupF QFuls
SITJENILD.

a. oflwed &SHATLD b. seps &FHHATD C. M 2IGBTUISLD

d. geps BEID QUIHETST) embTwad €. ol g flwalsdenso

Which one of the following bills must be passed by each house of the Indian parliament
separately by special majority?
a. Ordinary Bill b. Money Bill c. Finance Bill

d. Constitution Amendment Bill e. Answer not known

SpdbHewi  BFTHTHHeN60 6hd WEFTHT UTITEHLOHB  Freveuuiad Heldseilwms  Fpliy
GupLbLITaiTemLOWL 60T BledmBGeummriL. Geuewt(HLb.

a. sngnyent CFTHT b. vewt wW@FTHT c. B wlsram

d. spdweoemliy FULSHHmHH WGFTHT e. alewL Gaflwalsdenso
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110.

111.

112.

113.

With reference to the Constitution of India, which one of the following pairs is not correctly
matched?

a. Forests: Concurrent List b. Stock Exchanges: Concurrent List

c. Post Office: Union List d. Public Health: State List

e. Answer not known

OhHW DIFwevemIolINed SPHHMIL UMD HeUBTeT Een6mT HeuIl 3.

a. HMTHSH6IT : GUITSHINILIL IQUIED b. uBIGEHMS : CQUTSHIILIL 1QUIED

C. HUTE SIIEHID : HHWIL 1guied  d. QUTE &STHMID : IBENILL IQUIGD

e. alemL Gz flwailsenso

What does the 104t Constitutional Amendment Bill related to?

a. Abolition of Legislative Councils in certain states

b. Introduction of dual citizenship for persons of Indian origin living outside India

c. Providing quota to socially and educationally backward classes in private educational
institutions

d. Providing quota for religious minorities in the services under the Central Government

e. Answer not known

104eug Spdlwevenioli] FTHHSHe WEFTHT 6% FOUBHSILILL SI?

a. dlev wrplevmiseilesr Ged Femu HHSD LBMIUIG

b. Qeauefiprhseied auflb@Ed BbHw eubam afseEndd Bl Guflend eupkiGD WEFTHT
SN (LpsLD.

C. HalwnT &Heval HBeueamiseisd Fpd OUIHMTHTISHSHD LIBULLATHEHGHE SHOIWTS L
RBIHBB PRGOS

d. wspgdw ordear Gaumeveumuiiied Fwoul HBUTHTOLUINI(HSESH B PHIEEB ULDHIGISHI.

e. alowL Gaflwealsensd

Under which administration the Department of Atomic Energy functions?

a. Prime Minister’s Office b. Cabinet Secretariat

c. Ministry of Power d. Ministry of Science and Technology

e. Answer not known

SPHHEWIL 61hFH HTUTEHH T S DEMIFHSH HdB CFWOLIGH MBS

a. s whHAuler Sieviai0sid b. amien QFuwievsid

C. aflgdd) SIMIDFFHID d. 9peluwed wBDBID CBHTHOBHI LI DIEHIDFFHID
e. alewL O flwelsvenso

The Constitution (Seventy-Third Amendment) Act, 1992, which aims at promoting the

Panchayati Raj Institutions in the country, provides for which of the following?

1. Constitution of District Planning Committees.

2. State Election Commissions to conduct all Panchayat elections.

3. Establishment of State Finance Commissions.

Select the correct answer using the codes given below:

a.Only 1 b.1and 2 c.2and 3

d. All of these e. Answer not known

opflweoemoli]  (73eugl  HhHH) WCFTHT SHpdsewiL  Hpleuaimismen  GLBGSHSH — eTeTer

BLOIYHNBHMET BLoM6\SHTEuuTL 6.

1. T’ L S L SGHHHH6T DNl

2. ele0euT  UEhFTWSHSHIBHTID  CHTHmen  BLESSIUSBHTS  WTHe  BHTHed  Syemeamrubd
IBUBSSIH60

3. wipHev HFHS GHUHHMEN DIENLDSHFHED

SPHHMIL GBuilper o salujar Fllwrer uSlmed SHHes.

a.1 wl@w b. 1 wppid 2 c. 2 Bpib 3

d. 9mearsaid e. alewL GaMuwielsvemev
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114.

115.

116.

117.

118.

The government enacted the Panchayat Extension to Scheduled Areas (PESA) Act in 1996.
Which one of the following is not identified as its objective?

a. To provide self-government b. To recognize traditional rights

c. To create autonomous regions d. To free tribal people form exploitation

e. Answer not known

OITFTHIGD 199610  gewiged PESA  eremiu@id  uliguisd St UGHBHeMed  LehIFTUIHSHIHH6IT
allfluréds FULID GuBBUULL S

SIS HMILmauderled 615 GoBOsTemi GHECHTEndHE CHTLIY Be0eoTHSHI

a. & IMF 2_(HoUTHEGHH60 b. umgibuflw o _Mevwews SBISEHSHH60

C. AT & LGHenW 2 (HeUTHEHFH60 d. LPEIGY WHB6T SR LGS HHSH alGallilg
e. alemL Gz flwailsenso

“To uphold and protect the Sovereignty, Unity and Integrity of India” is a provision made
in the

a. Preamble of the Constitution b. Directive Principles of State Policy

c. Fundamental Rights d. Fundamental Duties

e. Answer not known

“@empuwimenientdo LTHISTIL  WwBpid  Cuwur®, SbHW QHLILTEG WLBBID BB L&l
AT HBHIHHET 6160 SHTeNILILIBHS B!

a. OIrFWeLedIOLIL] (LPSHED] b. wrhevnisEndsTar Ghrg Gsrl uTl. G GCsmerams

C. Sl 2_MenLoabeir d. smwlumL &Laiwsei

e. alewL O flwealsvenso

Kannan divides a circular disc of radius 14 cm into four equal parts. What is the perimeter
of a quadrant shaped disc? (use 7 = %)

a.1l ecm b.22 cm c. 44 cm

d. 50 cm e. Answer not known

Hemiewien eleiiLeN] 14 OF .0 SuTpelen @b ULLSH SHHLML BTG FLOUTHRISTHL  LNFSBT].
22

DS QP(hH HMEV QULL S SHBHLIQEN &SbMerne| HTensh. (DG, 71'27)

a. 11 G&.18 b. 22 Q.16 c. 44 Gg.16

d. 50 Qz.16 e. alenL  GaMuwealsvemen

A horse is tethered to one corner of a rectangular field of dimensions 70 m by 52 m by a
rope 28 m long for grazing. How much area is left ungrazed?

a. 3640 m? b. 3460 m? c. 3420 m?

d. 3024 m? e. Answer not known

Cgeieusd eugaleomer 705 X 5215 uflomewid GHTERIL  HovhHed @ cpemeouled @  GHIem]
Guouwieugbats 28 15 B O@mewi sulBplemsd GoUIFFIdE S LUIUGHSBEH. GHHmy Guwns
Blovh e LJLienLid SHTeulsb.

a. 3640 2 b. 3460 152 c. 3420 152

d. 3024 182 e. alenL  GaMuwaisvemen

The length and breadth of a room are 8 m and 5 m respectively. A red colour border of
uniform width of 0.5 m has been painted all around on its inside. Find the area of the
border.

a.12 m? b. 14 m? c. 28 m?

d. 40 m2 e. Answer not known

8 15 pen(pd, 5 1§ oBevIpld OFTemiL @h Sewmulsd o L ypoms Fgmen Feully euemientll LITeNS
0.5 15 oIBeLHFH60 LFILGHBSEH. Feull] euewiewrl LTeNSHUI6T LITLILIGTE] HT6u0Ib.

a. 12162 b. 14 152 c. 28152

d. 40 152 e. aleowL  Oafwalsbensv
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119.

120.

121.

122.

123.

What happens to the area of the parallelogram, if the base is increased 2 times and the

height is halved?
a. Decreases to half b. Remains the same
c. Increases by two times d. none

e. Answer not known

RT BmMUSTHHET DIQLILISHMS @Tewi(H LOLMISTHD, 2 WJHmS UTHWTSD wIBnibCuTs
BmeRIBTHHT LIFLILIOTE| 6TeleuTml LOTMID?

a. UT&HWMS LOTHID b. wrmrg

C. ®Jawi(® DL RIGBTEGLD d. gsiisvenev

e. allewL G flwalsvenso

What is the area of the given figure?

12cm

h“e [T = g"‘#;

Y fs

) ©
a. 98.8 cm?2 b.110.4 cm? c. 120 cm?
d. 132.6 cm? e. Answer not known
CaETBHSILLL  euMILIL SHHl6T LIFLILIGTeN6 ST,

‘_54'\ - 12cm - fo,b

Y 4

N L-2
a. 98.8 Q.12 b. 110.4 Q.12 c. 120 Q.52
d. 132.6 Qz.152 e. allew Oz fwaisiensv

Which one of the following objectives is not embodied in the Preamble to the Constitution
of India?

a. Liberty of thought b. Economic liberty

c. Liberty of expression d. Liberty of belief

e. Answer not known

OhFHw SFFweoenoliier (pHe|mIuied SHHEIL 6lhSH DIDFLD SHTEILILIL G1606H6V

a. fbgmer FFHHAHTLD b. Qummentamy SHHATID

c. 2 eawitemal GQaueliLBSHSHID 2 fenio d. pismauie o Meno

e. alewL Oxflwelsvenso

Right to Vote and to be elected in India is a

a. Fundamental Right b. Natural Right c. Constitutional Right
d. Legal Right e. Answer not known

aundseis@h o fleww, @bHwmaled CaHTHOSHBHHILILBHHEL 6IeTISH.

a. ouliumL o _flenip b. umens 2 fenio c. oflwevenioliy 2_flenip
d. siL o feww e. alenL Gafwealsdemso

In the context of India, which of the following principles is / are implied institutionally in
the parliamentary government?

1. Members of Cabinet are Members of the Parliament

2. Ministers hold the office till they enjoy confidence in the Parliament

3. Cabinet is headed by the Head of the State.

Select the correct answer using the codes given below.

a.1land 2 only b. 3 only c.2and 3 only

d.1,2and 3 e. Answer not known
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124.

125.

126.

@phHwmmealll CUTBISS 6uedJ BTLTEHOEN STFT  duled Spdsramid Gasmlur@hdeaisd 61g)
WerummriLGama?

1. smiel. o pIilenTseT Sieneareu(hD HILTEHLOGIB 2 mIL 6T Hel

2. BILTEHOSIBSHH T BIOLISHmS BobH@GHD aIeD] DIIFFTH6T UHaT eudLILT

3. SIMWFFTME DTF T HEMEVATTED HEN6VID SHTHISLILBH MBS

SPHHMIL  GHMIdmentl UweaUbBSHS ghwmer allewLemuid CHTHOHM.

a.1,2 w' @ b.3 wl B c.2 wBpib 3 L G

d1,23 e. alowL Gafuwealsdemsv

Consider the following

Assertion (A): The Constitution of India is very flexible.

Reason (R): Since its inception, the Constitution has been amended more than 100 times.
Both A and R are true and R is the correct explanation of A

Both A and R are true and R is not the correct explanation of A

A is true but R is false

A is false but R is true

e. Answer not known

LedTeu(mHeueieuBens  yUi1sh

app (A): @bsw opsFomwliy s CBSIDe|dH HETEND CBTERIL .

smyenid (R): @gieueny ogenoliy 100 (wenpéHE@ Ged HISHHLILL(BET6N.

FBEID, STIewIoD FRWTEIEDEUSET DG, HTTNID FmBplbaTer Fluimer alendaLomELb.
FBEID STFI(PLD FHWLTETMISTGD. SLETTEL SHTFNID Fn@menm FAwns alendseals0ensv.
Byl Ff SLeTeL SN Heuy

BB HOUBl DLEITEL HTJeord Fifl

alenL  OFfwailsveney

S

oo o

The President of India is

a. the real ruler of India

b. the constitutional head of the state

c. the head of the state as well as the government

d. the leader of the majority party which forms the government
e. Answer not known

@hHWTalet GHQUITEHS SHMEVEUT

ObHFHWTAN6T 2 eoTenoulTer S FuImenT

SIFIST DITFEMIOLIL| FHEN6V6UT

SITF&T HMELAUTTHAD, HITFTRISHH T HENGVTTHAD SHBHLDSBTT
DITFTRISHMS 2 (HUTHGHI B CLIHLOLTETND HLFUler FHeneveuT
alenL  OFfluiaisoensv

AN o

On the death of the President, the Vice President succeeds him as the President for
a. the unexpired term

b. a maximum period of six months

c. a maximum period of one year

d. a maximum period of three years

e. Answer not known

GlpWI &S Hemeveufle LDy 6001 & &5 eTGLIT G| GWIHSH HI606001 5 HEMEV6UIT 616116116116 HT60LD
GLRWISFHSHMEVAT LiGHal 6usHH60mD?

GRWISFHSHMEVAT UPBdHHToe0 BHD ol hF CFSB UHald STEOD 6]

DIFHB LLFOTSH 6 LOTHHISET

SDIFHBULFIOTS 1 QUHLLD

SIFHBULFIONS 3 QUHLRIH6IT

alemL Oz fluialsoensv

o oo o
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127.

128.

129.

130.

131.

The maximum strength of Rajya Sabha is

a. 200 members b. 250 members c. 280 members

d. 245 members e. Answer not known

LomBlevRIBeTemaUUTlel GoTdHEH 2 ML N6TTaHe6iT

a. 200 o_minleniaeit b. 250 o_mirnleriteelt c. 280 2_minleriraeit
d. 245 o_minlerireseit e. alowL GaMuwealsvemev

Federalism was demanded in India for the first time by

a. Mountbatten Plan b. Nehru Report c. Cabinet Delegation

d. Rajaji Plan e. Answer not known

AhFHwraled sl LT gl (penpenul (WHel (WwHeonds Gsmilwg ergi?

a. weew CuiLer HLw b. Crmp SPfsms C. SIMFFTM6UD G (LD
d. @yregred &b e. alenL Gafwealsvemso

The Union Public Service Commission, which is concerned with the recruitment of civil
services at the Centre,

a. Was created through a presidential Ordinance in 1950

b. Was created by an executive resolution which was duly endorsed by the Parliament

c. Was provided in the Constitution

d. Was provided under the Indian Independence Act, 1947.

e. Answer not known

LHHUTD  Glgemoll  LewlUWIL BIG6T HUIDEThSEHSSL CUTBILUTET @B  SIF&L  LiewllwmenT
CxiToureneniidh G 6IILIGI

GRWISSSHMmevaTeT DeudFy FLLSHHl6N cpeold 1950-860 o (HeUTHSLILIL S

BTLTEHLOGTBSHSHTE0 HlenmCeuBml SHTOTeISHS6 (LD © (HeuTdhSLILIL L Gl

SITFIWGLEMLDLILITED  6ULOMBISLILIBESIBS

@bhHW SHHHT FLLID 1947-B6 cpeOld 2 (HeuTHSUILLL S

alenL  OFfwialsvensy

oo o

Which of the following is not a statutory function of the UPSC?
a. To advise the government on the methods of recruitment, promotion and control of
public services

b. To look after the interests and right of civil servants

c. To hear appeals from civil servants and redress their grievances

d. To act as a watchdog on the functioning of the state Public Service Commission

e. Answer not known

S HewiLFHev 618 @Ml SF&l LenlwmenT CoTeurenemiusHSHler FL L LTaIoTen Liewnll 160607

a. Gl uenlullel Bluiwed, usel o wiTe), SLEUUTG SHWT CHTLTUTS HFSFTRSSDHBE
UBeuTFment GULPHIGSH60

b. @il uewiwmenisefes Heveiser wWHBBID 2 feasmen GLEIH6e0

C. Gl usiwreniseler Gempamenr Casl(B SHTHH MeUSHH6E0

d. wrhlevd BHTauTenewIUIF OFUICOHEM6TSH & 6uiIHITemNHH60

e. alewL G flwailsenso

Match the following:

A. T.M.A. Pai vs State of Karnataka (2003) 1. Protection against arrest

B. Visakha vs State of Rajasthan (1997) 2. Right to freedom of Religion

C. Gopalan vs State of Madras (1950) 3. Protection of Life and Liberty

D. Gopala Krishnan Nair vs State of 4. Right of minorities to Administer

Kerala (2005) the educational Institutions
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A B C D
a 4 3 1 2
b 3 2 1 4
C 4 1 2 3
d 1 4 3 2
e. Answer not known
QUTHHSHIH:
A. TM.A. utii vs &TBpTLS Sya (2003) 1. WBHIBG THITT LITHISTLIL]
B. elgmar vs grmervgrer oiys (1997) 2. 08 &FHHIHTSHHBHMTe 2 Meno
C. Bamumevest vs QoL gmerd &g (1950) 3.0UMDey LOBMID SHGHHAT UTHISTLIL]
D. BGamumev &magewiei HTWT VS 4. dpiumerenouie Heval [Blp3IeweTmIgSemer
Gayem oys (2005) BlmeugdliugnsTer o fleno
A B C D
a 4 3 1 2
b. 3 2 1 4
C. 4 1 2 3
d. 1 4 3 2
e. alewL Oz flwealsvenso
132.  Who said, “The Constitution of India was framed by ransacking all other Constitutions”?
a. Pandit Jawaharlal Nehru b. Periyar E.V. Ramasamy c. Dr. B.R. Ambedkar
d. Ivor Jennings e. Answer not known

“@hdHw gy FULoTag LB SpFmwliy FULmselsd Qmbas EGempuwty Geuuiul’Lg)”
o160 Snsluleu wimir?

a. uewngl MeuamTeumed Gm(h b. Quflwmi F.Ceuyrogmd c. Dr. B.R. oibGugair
d. meut Ggeieimierd e. alewL Oafwealedensv
133.  In the following which is not a communist country?
a. Japan b. China c. Cuba
d. North Korea e. Answer not known
“OurgleyenLeno DIT&~ HleveuTd HT(H
a. slImest b. Fer C. alugum
d. eu @asmiluim e. alenL Gafwealsvenso
134.  Match the following.
Subject Matter Parts in Indian Constitution
A. Public Service Commission 1. XVIII
B. Elections 2.XIV-A
C. Emergency Provision 3. XIV
D. Tribunals 4. XV
A B C D
a. 1 2 3 4
b. 2 3 1 4
C. 4 3 2 1
d. 3 4 1 2

e. Answer not known
SIS HEmIL Ui N6l QLIM(HEHHIH.

QuIT(meiT OhFHw DFFweoenoliier Liga)
A. GQungit uenflwmenT GaiTeuTenemTLIBIg6IT 1. XVIII

B. Bxitghevmei 2.XIV-A

C. Opmsaly Hener DIDFRIGHEN 3. X1V

D. gmiunwikiseit 4. XV
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135.

136.

137.

138.

A B C D
a 1 2 3 4
b. 2 3 1 4
C. 4 3 2 1
d. 3 4 1 2
e. alemL Gz flwailsvenso

Which one of the following statement regarding territory of India is / are corrected?

1. State territories ii. Union Territories
iii. Such other territories as may be acquired  iv. Foreign territories
a.1and ii correct b.iand iv correct c. 1, ii and iii correct

d. i, ii, iii and iv correct e. Answer not known
@b peoliuGHamulll GumhHHeueny Llaeumd 6hd 2 6mF Fhwmeig?

1. THlev Mlevll LIGSH&Hei . SHHUW Hleoll LG ®el
iii. oemed QUBLIUGLD BB UGS H6N V. 9lWed LGS Hei
a.i wpmd i &M b.i wBmd iv & c.i,ii wmmub iii &

d. i, ii, iii w@gd iv & e. alewL OxMwaleenso

Consider the statement :

i. Untouchability was abolished under Article 17 of the Indian Constitution
ii. Article 17 of the Constitution does not define the word “Untouchability’

a. Statement (i) is correct

b. Statement (ii) is correct

c. Statement (i) is correct but (ii) is incorrect

d. Both statements are correct

e. Answer not known

Fa3BIHEN6T LTTUIS.

1. SWILTem SISBBLUIULGaIlL e — 2 mity 17 @bHw Spfuievenioli] FLLLb
ii. SHeWILTeMID 6I6TLIGHI DIFFWwevenoll] FUL 2 miiy 1760 auedFumISHILIL 6]606060
a.i wl @b & b.ii w’ G & c.i af ii gfluedev
d. @yewih FmBmiEEHD e. alewL Gafuwealsvemsv

Which one of the following concept is not Rule of Law?

a. Natural justice b. Fair play c. Equity
d. Judicial equality e. Answer not known
SaHLMBDIET o1& “FUL SHHeT & F” SenLwngl?

a. QuBms B b. Pwmuiorer GEwBur®

C. FTS BLSHUILUGID (PaIGauTHeaumbd) @ioed  d. B8 Fodgieubd
e. alemL G fwailsenso

Match the following:
A. Theocracy 1. Switzerland
B. Secularism 2. China
C. Direct democracy 3. Iran
D. Communism 4. India
A B C D
a. 1 3 2 4
b. 1 2 3 4
C. 4 3 1 2
d. 3 4 1 2

e. Answer not known
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139.

140.

141.

142.

SIPHHWILAUBNMB  OILIT(HHHISH:
Fowl &
WHFFTTLI 6 emLD
Gpylg WHHeTL &
QUTHIO ML 6MLD
A B C
a 1 3 2
b. 1 2 3
C. 4 3 1
d 1
e.

Gall_FTe0mbg)
Feurm
FFJTGOT

Spglu

ON=»

NN g R W~

3 4
alemL Qg fualsoensv

Which one of the following statements is/are correct?

1. The President of India is the head of the State

2. All executive powers of the Union are vested by the President
a.Only 1 b. Only 2 c.1, 2 both

d. 1, 2 both are incorrect e. Answer not known

UelteumeuaieuBmien Fflwnereng OFfley OFuis.

. GQUISHS SHM6VGUT BITLIQET HENELGUT SLEUTT

2. BILIGET HiTeuTs DIFSMMS6T WTad Gwidsid SHemeveufll b o _eTeng

a.1 wi @b b.2 wl G c.1 wBmb 2 wL G
d.1 wBpb 2 saupteame e. ol Ffwelsvemev

Which of the following statements is/are correct?

1. The term of office of the Governor is five years

2. He can remain in office till his successor enters upon the office of the Governor

a.only 1 b. only2 c. 1,2 both

d. 1, both are incorrect e. Answer not known

ettou(phld SnBmIseied e1gl gifl?

1. ouenpiler UHaISHTOD MhH DLW (HH6IT

2. suenppiler usaldbsten (pyamLbsd GurHed gal  LUleernm eumuelT uHICUBESGHLD 6uem]
ugsalulled G TL TS

a.1 wl @ b.2 i B c. 1 ppid 2

d.1 wBpb 2 Ffluwedeo e. alewL Gafuwalsdenso

Which one of the following functions is NOT performed by the District Collector?
a. Maintenance of Law-and-Order b. Collection of Land Revenue

c. Dispensation of justice d. Social Welfare

e. Answer not known

Wetteu(pd QFwieoLmn(Baeaied meul L gy Fuigmed GFwWeOLGSHIULTSH Q6ImI

a.FlL wBBID @uemG ugmofiiiug b. Mlev eumeuTul GuEHIILIGI

C. b GUPEIHED d. gewps pHevld

e. alemL O fluwailsenso

Match the following with Committees

A. Economic Reforms Commission, 1983 1. Soli Sorabji
B. Police Act Draft Committee, 2005 2. Ashok Mehta
C. Committee on Panchayat Raj Institutions, 1977 3. R.S. Sarkaria
D. The Commission on Centre-State Relations, 1983 4. L.K. Jha
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144.

145.

A B C D
a 3 1 2 4
b 4 1 2 3
C 4 3 2 1
d 1 3 4 2
e. Answer not known
QUTHHSHIH:
& (LDEBH6IT HEN6V6UTEGIT
A. Qurmenmamy pl Spuiedh G, 1983 1. Gameld Gamymiig
B. smeusd FUL suemgeysd @ap, 2005 2. 968s1s GudeHT
C. uehsmusal 13 Siemwliys G, 1977 3.R.S. Fhdbsmilur
D. wsdw — wrplev o meyser &, 1983 4. LK. g
A B C D
a. 3 1 2 4
b. 4 1 2 3
C. 4 3 2 1
d. 1 3 4 2
e. alewL Oz flwealsvenso

In which year was Panchayat Raj system introduced in Tamil Nadu?

a. 1993 b. 1992 c. 1990 d. 1958 e. Answer not known
SOIDHTLIQED LIGhaTWSHSH JTe3 FLLID 6bhd k6wl SIBIPSLILGSHSUILLL SI?
a. 1993 b. 1992 c. 1990 d. 1958 e. alewL Gzfuialsdenso

Since 1993 Collegium system in India is a search committee for
a. Appointing Vice Chancellors in University

b. Appointing judges in Supreme court and High court

c. Appointing health administrators

d. Appointing Directors in Welfare Board

e. Answer not known

OsTelgb eIdigmId BGHLed G 1993 (L @hSwmaled

a. UeDSMEVHSIS  HleneniCoubsTamen Hludld@Lb

b. o wipSlwepd WwBBILd o FFBHHIa BHAHUSHEHM6T BUILdESLD
C. &GHTHM HiTeUTsd BUISGBhTHmeN HUILblsELWD

d. pev aurfl Buib@BETemen Budo@LD

e. alewL G flwailsenso

Which mission endorsed the plan for a Central Government with limited powers and
relatively strong provinces having considerable degree of autonomy with all the residuary

powers?
a. 1946, Cabinet Mission b. 1942, Cripps Mission
c. Constituent Assembly 1949 d. Simon Commission, 1928

e. Answer not known

Ueleud  6hsd G Wl DJ&F  edenld  (GMPBEUTHAD LOTHeD  DIJFHS6T  HIHSMILOT6
&SHITHCHTB CFwdLBUSBG elSSIL L 57

a. 1946, Galien LemldbELp b. 1942, &fierd Lemldb@Lp

C. OIPFlwed FTFR SIMIDLILIEG D, 1949 d. ewawer syenemid, 1928

e. alewL OFfwealedensv
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147.

148.

149.

150.

Which of the following is larger in area?

a. A triangle with the base 10 cm and height 8 cm.

b. A triangle with sides 12 cm, 5 cm and 13 cm.

c. An equilateral triangle whose sides are 10 cm each

d. A right angled triangle whose sides containing the right angle are 3 cm and 4 cm
e. Answer not known

Wetteu(heusteuimiem LFlilenaled Guflwig) erg?

a. SIpliussd 10 OF6. o wyh 8 CF5 CaTemi (psHGHmemniiD.

b. 12 Q&5, 5 Q&S wBEID 13 CFS LSBHIGET 2 6o (LPHECHTEID

Cc. 10 Qa5 udsb o eten FOUSS (PHGBHTEWID

d. QsmBsTewidhms o 6en_sdul LUbBHIB6T 3 GFS WBBID 4 QFS o een (WdHBHTewID
e. alowL Gafweiledenso

The perimeter of two squares are 40 cm and 32 cm. find the perimeter of a third square
whose area is equal to the difference of the areas of the two squares.
a.40 cm b. 36 cm c.12cm

d. 24 cm e. Answer not known

@rewih Famseiar ampeneyser (BB 40 GFlS wBpid 32 0F5. Geel  FHITHRISET 6T
ugtiuenalledl allSHWTFHMSL LFLLeToUTSS OBTENIL  (LEIBTUSH FHITSHDHI HBBeNey 6Tevrent?

a. 40 Q.8 b. 36 Qz.15 c. 12 Qg8

d. 24 Q5.6 e. alewL Gafuialsdensy

A circular shaped gymnasium ring of radius 35cm is divided into 5 equal arcs shaded with
different colours. Find the length of each of the arcs.
a.5cm b. 77 cm c. 147 cm

d.327 cm e. Answer not known

35 Q.16 SuIpeien QUL  eaugaleuTer IDETTEOIS GUEMEITULILDTRIGI 5 FIO Dleeyeiten allBdenTall
Ufssiul G OeousiCoum HiBmsaied  eueamieniOLLILIL (BeTengl. 6leled, e6lbeum(® UL @666
BOTHENSULD ST 60018.

a. 5 Gg.1 b. 77 Q.18 c. 147 Q.5

d. 327 Gg. e. alenL  Gafuwalsvemev

The length of a rectangle is (3x +2) units and its breadth is (3x -2) units. Find its area. (x = 20
units)

a. 3596 sq. units b. 3956 sq. units c. 4256 sq. units

d. 5356 sq. units e. Answer not known

QM OFslusdHer Herbd (3X + 2) DeuGSE6T LBEBID DIHST DHVD (3X — 2) DIVGHDB6T 6163160
DISHEGT UJLILIETeneUS HTewdH. (X = 20 HI60EGHSH6N)

a. 3596 &. SIVGB6I b. 3956 &. S0GD6 C. 4256 &. SVGHH6I

d. 5356 7. oEG®6I e. alenL  Gafuwailsvensy

The perimeter of a triangular plot is 600 m. If the sides are in the ratio5: 12 : 13 then find
the area of the plot.
a. 11000 sq.m. b. 14000 sq.m. c. 12000 sq.m.

d. 13000 sq.m. e. Answer not known

Qb WPpHCsmemt  augaleomet wemeiuile gFiBmeney 6005, SIHET USBEIGET S5 : 12 : 13 el
alFHHHe0 2 oitenien elallod DibhG LoemeTUNeT LIFLIL| SHT6wIS.

a. 11000 &.15. b. 14000 &.i6. c. 12000 g.i6.

d. 13000 &.18. e. alenL  GaMuwalsvemev
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